Al A

| &€ 2 &
0258 20lat LEBIH L JIBSERIH 1dS ~ =23
2N DHE
M Fol #E PO ER(DHE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
18s 955,262 845,516 109,746
=0l A Ho| E2(DN4s) 173,438 136,3%4 37,044
YIS 29 173,438 136,3%4 37,044
.8y N3 139,840 98,280 41,560
301 EetE NS 139,840 98,280 41,560
o7 8% -0 - H¥Es243 139,840 98,280 41,560
.88+ ¥ 234l 139,840
rol=eE 400,000 x23E « 12 110,400
Lt &012 400,000 x23 %23 18,400
Ct.3lol a4y
20,0002 x232*23| 122 11,040
FUNXMEEZ )Y 2 13,296 13,936 A640
201 et 3| 13,296 13,296 0
01 At2t2l] 13,296 13,296 0
(2er=2Hl) 1,296
1LFTXME 2|
120,000 * 122 +90% 1,29
(2e=¢) 12,000
1.=2AXME SAtE 12,000
b AZEUA
25,0002 =8Al 2t 12 2,400
Lhotena 25,0002 *8A| 2H+ 122 2,400
ChIISHZE 25,0003 *BAlI 2t 123 2,400
ctEZEHA
25,000 x8Al 2t 12 2,400
O 28Rt 25,0002 =8Al 2t 12 2,400
ARl 2tel 10,302 14,178 A3,876
101 @124H| 7,406 7,282 124
M IRINZZENSES 7,406 7,282 124
(SEAH A A=2RY 7,406
1.2 6,620
o 20
80,2403 /BAI2H* 12 +55A1 2Hx 123 6.620
2ANHNERY 288 736
HANEE= 6,620,0002 0.841% %
L. IES28= 6,620,000 *1.75% 116
Ch.=CBASEERE
6,620,000 4. 5% 298
ct.muALEER
6,620,000 *3.545% 235
O =RIEDIRSEEE
235,0002 *12.95% 31
3. A 50,0002 x1H =13 50
201 Ler23 | 2,8% 2,8% 0




2A: DHS
M Fol #E PO ER(DHE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 2,8% 2,8% 0
1L.Roggl 2|2 208,000& 122 2,4%
2 BNTIQHYB A4
200,000& *1JH 2-#22] 400
FUHCUH A SEHEAS 10,000 10,000
401 AIEHIZ SR OHYI 10,000 10,000
01 Al&HI 10,000 10,000
1 HISAHE S==UAHAN £X
10,000,000 * 14| 10,000
SADIEAIE HEI(DES) 5,000 5,000 0
TAIDIEIAIE EHI 5,000 5,000 0
223 AE= ZH| 5,000 5,000 0
401 Al HIZ R 0HbI 5,000 5,000 0
01 AlZ8| 5,000 5,000 0
1.425 Ald= |2
5,000,000 *14 5,000
HY2HIHI(ES) 776,824 704,122 72,702
elIE =g 698,050 627,682 70,368
olE =gl 698,050 627,682 70,368
101 21A4H| 698,050 627,682 70,368
01 2= 698,050 627,682 70,368
(22) 468,898
1L.esM0g) 88,925
s 87,181,000 *1& 87,181
BpSE ) Fal:] 87,181,000& 2% 1,744
2.M8E (1Y) 379,973
ot.628(19583) 4,042,100 «2E 12 97,011
Lh.72(8%8) 2,735,100 «4E 12 131,285
cte2(11ss) 2,722,800 «3H 122 98,021
ct.9=(3&83) 1,925,200 x2&* 122 46,205
O X0 372,522,000 *2% 7,451
(M =¢) 44,290
1LURs2E =€ 2,905
62 05)
3,349,800 x1& #4. 1%+ 122 1,649
Lt.72tH<(82 9&3)
2,551,700 x 18 4. 1%+ 123 1,256
2.82+¢ 379,973,000&1/12 31,665
.32+t 9,720
Jh.25800 2 130,0002«1&~12& 1,560
L+.20 0] &~25E 0 2t
110,000 x2& * 122 2,640
Ct. 15 0[&~204 012
80,0002 x1& * 12 960
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2A: DHS
M #ReHAH|(DLE)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2F. 100141~ 1540 2t
60,0002 x2& * 12 1,440
OF.5E01&~10 012t
50,0008 x4 x 122 2,400
.5 01t 30,0002 28 122 720
OBIEd=g) 22,920
1.t5s¢ 7,920
B AL 40,0002 x6&* 122 2,880
L. JIERDHS 20,0002 +x38 * 122 720
Ch XM AHA 30,000 x5& * 122 1,800
ct. = MAH 70,0002 %3~ 122 2,520
2. 507G 1,500,000 x1& 102 15,000
(S+22+9) 18,720
1.5=225E 18,720
h.s28=¢ 80,0003 x12E «12& 11,520
Lt 2IAAR
50,0008 x2& * 122 1,200
CtALRISXIY R4
70,0002 %58 122 4,200
ch AR SX RIS
30,0002 68 122 1,800
(=222 56,804
LAIRMRIZRSE
11,6022 «34A| 2H+ 128+ 123 56,804
(24 8) 59,838
1. 3As4H 140,000 x 13« 12& 21,840
2. BEFJtHI 379,973,000&+1.2/12 37,998
(B2 XHI) 26,580
1.58 250,000« 1H* 122 3,000
2.6 185,000& x2&~ 123 4,440
3.7= 180,000& ~4&x12& 8,640
4.895 175,0002 x5 * 122 10,500
=38l 78,774 76,440 2,34
JI=23Hl 78,774 76,440 2,34
201 fer= 3| 37,836 37,860 AV
01 At 2|l 17,748 17,772 N4
(Et==2Hl) 10,020
1. 2N 288 300,0003 x11H*80% 2,640
2.0HI2HR AIRES
100,000& * 12 1,200
3.sxz= €288A 26,0003 152 A 390
4Q0ZSHN £=5EX
86,5002 x5 A 433
5. 0gH EU/EH™
165, 2503 *4CH*43] 2,484
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CHE - BB - NIRA - BAS e
6. WA &l 150,000 »1CH*43] 600
7.21801212 20,0002 *1CH* 122 240
8.=AEX 20,0003 #2528 A 500
9. 808Xtz 30,000 » 122 2CH 720
0. 7S U= 8,000& 12& %6
1BIMBIIER 59,7002+ 122 717
(2g+g) 600
R 60,0002 12102 600
=) 7,128
1.01=eRss S2ZAY
9,000 x6Ax 112 x 12 7,128
02 S3=gHl 20,088 20,088
(SZ2SLHA) 18,164
.28z 3,294
bt 430 x50 122 258
Lt SII 2,5302 10024+ 122 3,036
2.80|= 900,000 * 12& 10,800
3.&. ot 100,000& * 12 1,200
4. 83t Ee2 250,000& %12 250
5. I xte 2,620
b NS IHA 130,000& »2CH*13] 260
LE. BAle== 60,0002 *2CH*12] 120
ChAUEEEE 1,000, 0002 «2CH 12 2,000
chAEESEE 10,0002 <20~ 12 240
(A EZBISXIH]) 1,924
1.EMEE 22 100,000 1CH 100
2. ZQSOIA A ST
33,0003 *2CH*43] 264
3. A2UAMAAE S|
30,000~ 1CH* 122 360
4. BNHE RAE=> 600,000& 600
YR il
100, 000& »2LH+32] 600
202 04| 27,660 27,660
=0l 3,360 3,360
.=U0oIH] 20,0003 10 x2H + 123 x70% 3,360
02 XN 24,300 24,300
0| 225,0002 -9 * 123 24,300
gRF=4| 9,080 9,120
DI pegeshes Bt lal 5,940 5,940
J2E2HYRFA| 6,600, 0002 *90% 5,940
A S =] 440 480
FRIORE RS 40,0003 11 440
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Al A

Ml £ 2 &
0258 20lat LEBIH L JIBSERIH 1dS ~ =23
A 2SS
B ZOIME HOCD(HAE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ads 1,375,444 1,213,317 162,127
=OIA HOER(HAS) 306,160 222,456 83,704
YIS 29 306,160 222,456 83,704
s N&E 249,280 191,880 57,400
301 EetE NS 249,280 191,880 57,400
o7 8% -0 - H¥Es243 249,280 191,880 57,400
.88+ ¥ 234l 249,280
h.SE+E 400,000 x41E 12 196,800
Lt &012 400,00021+41% 23] 3,800
Ch.319 & a4
20,0002 *41H =23 12 19,680
FUAXMEEZ =S 20,820 18,096 2,724
201 et 3| 20,820 18,096 2,724
01 At2t2l] 20,820 18,096 2,724
(EH2HHI) 1,620
1.2 AIME 28
150,000 * 122 x90% 1,620
(2e=¢) 19,200
Jhotlnsd 25,0003 *BAl 2t 122 2,400
L A=A gt
25,0002 =8Al 2t 12 2,400
ChAZ=EHA g8t
25,0002 +8Al 2t 122 2,400
ch Ze[HHA 25,0003 *BAlI 2t 123 2,400
OF. oA 25,0003 *BAl 2t 122 2,400
bt et=21&s 25,0002 +8Al 2+ 123 2,400
AL 2Jtu A 25,0002 +8Al 2t 123 2,400
Or.Zeletl 25,0002 +8Al 2t 122 2,400
A= X2t 26,960 2,980 23,980
201 fet=3| 4,960 2,980 1,980
01 AtR2t2|HI 4,960 2,980 1,980
1.2l r=2
220,000& * 122 2,640
2 BABI I E Y=
170,000 17 2 +23] 340
.oy =
165,000& *1JH A+ 128 1,980
401 AIEHIZ SR OHYI 22,000 22,000
01 Al&HI 22,000 22,000
LEAN 8H & sS4 L+3A
22,000,000 *14{ 22,000
FUZA A STHOHE A 9,100 9,500 2400
401 Al HIZ 2018 9,100 0 9,100
01 Al&H| 9,100 0 9,100




A 2SS
B ZOIME HOCD(HAE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
LUy S8=I 24X S24E EX(S
EOE AMY) 4,000,000 *14] 4,000
2. M0 S¥SI| g 0lsA! CCTV &XI(=S
ZHOE AtY) 5,100,000 = 1CH 5,100
SADIBAIE HHI(EES) 5,000 5,000 0
SADIBAIE EHI 5,000 5,000 0
A== ANE=E EHl 5,000 5,000 0
401 Al HIZ S 0HbI 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1.A825 Ald=E 7Al2c
5,000,000& 14 5,000
HY2HAHI(2LES) 1,064,284 985,861 78,423
el 2| 957,062 881,626 75,436
el 24| 957,062 881,626 75,436
101 @124H| 957,062 881,626 75,436
01 &2 957,062 881,626 75,436
(=) 634,638
1.4E8M018) 88,925
hsE 87,181,000& *1 87,181
Lt XS IH & 87,181,000 *2% 1,744
2. XZE(17Y) 545,713
ot.62(1983) 4,042,100 «3H 123 145,516
Lh.72(988) 2,839,500 x5 122 170,370
Ct.82(653) 2,163,600 «3F 122 77,890
ch.o=2(458) 1,961,600 x6& * 122 141,236
OF. X S IH & 535,012,000 *2% 10,701
(&0i==d) 61,740
LUess:dE =4 5,943
t58UR(621758)
3,897,500 4. 1%+ 123 1,918
Lhest(721153)
3,033, 1002 *4. 1% 123 1,493
ChestR (7895 8)
2,839,500 +4. 1%~ 123 1,398
ch.82 U< (9295 3)
2,304,500%4. 1%~ 123 1,134
2.832+¢ 545,713,0008*1/12 45,477
3.32EoHts 10,320
Jh.2030l1 4 100,000 x2S * 122 2,400
L+ 155 0(&~204 012
80,0002 x 18 » 122 960
Ct. 100 &~154 012t
60,0008 x2& * 122 1,440
ct.5E0l&~10 012t
50,0002 x5 122 3,000
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2A:
PSER
o e

el

ro gg

J¥0x 0x

[0 HO Of
oy
=2
M
0x
O

02 08

=

SA - FE - SRA(3H) - MRAE - BES

MEE
Ofl &k2h

30,0007 =128

40,0003 6~ 123
20,0003 128128
30,0002 +3&* 12
70,0008 +x3& * 122
110,000& x 12+ 123

1,500,000& « 122

80,0002 x17& 128

50,0002 «3&* 12

70,0003 8« 128

30,0003 7 * 128

11,6023 34 A1 2t 17H 123

140,000 x18F 122
545,713,000 *1.2/12

250,000« 1H 122
185,000& 3+ 123
180,000& 52+ 123
175,000& x0H « 122

2,520
28,680
10,680

2,880

2,880

1,080

2,520

1,320
18,000
27,360
27,360
16,320

1,800

6,720

2,520
80,472

80,472
84,812
30,240
54,572
39,360

3,000

6,660
10,800
18,900

107,222

104,235

2,987

107,222

104,235

2,987

56,902

53,915

2,987

iKY
e
on
i
i

ro
DU
0l
02
>

e

300,000 x 16 «80%

200,000 *5CH+*32]
300,000& *22

220,000& »2LH*22]

30,0003 #3082 A

80,0003 »158F A

26,104
15,136
3,840

3,000
600

880

900

1,200

23,982

2,122
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2AM: 243
BH: HYSAAY|(HYS)
&t JI=Z (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
4. X 2RIAAAE RXE2H|
30,0002+ 12& 360
5. 8= SE
150,000 *1CH+ 122 1,800
6.2EH=NE S
30,0002 x1CH+12& 360
7. X ==l 100,000 *2CH*33] 600
202 0idl 38,700 38,700
01 =LHO4b| 3,600 3,600
1.= L0 ] 20,0002 » 102 x3H * 122 x50% 3,600
02 A0l 35,100 35,100 0
1. M| 225,000 x13F =123 35,100
203 AR F=&lh| 9,820 9,820
01 J|22g AR FA| 5,940 5,940
1.J| 22 P 2F8H| 6,600,000& *90% 5,940
02 R RFAIL| 640 640 0
1. 830G RF=EH| 40,0002 16 640
M EAM2EHRFA| 3,240 3,240 0
1.2N2EHRFA|
300,000& * 12 x90% 3,240
204 AP AH| 1,800 1,800
01 HMZ R+ AL| 1,800 1,800
1AM SHRFAL 1,800
t.sE 150,000& x1H +12& 1,800
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Al A

AN & o 3
20254 Oll&t LBHSIH JIEIEEEIH Dds ~ =55
2H: BMMS
B 0l WA HO| C2(HAME)
&l HF=IHE 29 EER=E)
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
ESRa kS 902,224 830,033 72,191
0l Sy HO| CQR(EAMS) 151,952 114,504 37,448
HY=SXHEH 29 151,952 114,504 37,448
S8t XA 109,440 84,240 25,200
301 LEHBEF 109,440 84,240 25,200
07 E& - 0| - RSS2 AE 109,440 84,240 25,200
.88 ¥ g4l 109,440
tolesg 400,000 x18H + 122 86,400
Lt &012 400,00021+18% %23 14,400
Chalolas g
20,0003 18 23|+ 123 8,640
FOUMXEHEZ M 29 13,296 13,2%
201 2| 13,296 13,2%
01 ArR2eltl 13,296 13,29
(Ler==2Hl) 1,2%
1.=RXXIME 22
120,000 * 122 x90% 1,2%
(2g9=¢) 12,000
1. FIRXIME ZALS 12,000
b N2 A
25,0002 +8BA| 2tx 128 2,400
L. 2S==0l04
25,0003 +8A|2t+12& 2,400
ChE&uwal 25,0002 x8A|2t+ 122 2,400
ct.etoleHA A
25,0002 x8BA| 2t+ 128 2,400
0h.otRmal 25,0002 *BA| 2+ 128 2,400
ESYNESINE Gl 19,216 6,968 12,248
201 L2 | 8,216 6,968 1,248
01 AtR2telt] 8,216 6,968 1,248
.22 ~>2 (2882 ZF)
209,000 #2012+ 123 5,016
2. BN~ 5 (253 2 L&)
110,000 +20H 2 %23] 440
.Y BAUES+2 (253 R)
230,0002 x 1 123 2,760
401 Al&EI L2 HE] 1,000 11,000
01 A& 11,000 11,000
LEA QI EF U SATA
11,000,000& 11,000
AU A SEHE ALY 10,000 10,000 0
201 B2 AL| 5,000 10,000 5,000
03 &At2gH| 5,000 10,000 25,000
1.2342 DIS&H N
5,000,000& x12l 5,000
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SH: BaHs
B 0l WA HO| C2(HAME)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 5,000 5,000
01 It =S F = 5,000 5,000
1.EdEXIDl £X 1,000,000 *5CH 5,000
SADIEAIE HBI(EHS) 5,000 5,000 0
SAIDIEHAIE EHI 5,000 5,000 0
2E2F AE= ZH| 5,000 5,000 0
401 AIEHIZ R 0HYI 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1.4E25 Al2E sA2e
5,000,000 * 14 5,000
HY2ALHI(EAHS) 745,272 710,529 34,743
el 2E | 671,354 630,301 41,053
el E2g| 671,354 630,301 41,053
101 e124d| 671,354 630,301 41,053
01 2= 671,354 630,301 41,053
(22) 451,731
1.e28H(19) 88,925
s 87,181,000& 1 87,181
L. X0 87,181,000 «2% 1,744
2.M8E (1Y) 362,806
ote=(1888) 3,971,700 «2& 12 95,321
Lh72(928) 2,839,500 x3H 123 102,222
Ct.8=(853) 2,495, 9002 «3H 123 89,853
ct.9=(283) 1,897,1002x3&* 12 68,2%
OF. M IH & 355,692,000 *2% 7,114
(&t0i==d) 39,712
LUSSRE=E 3,118
58U (65182 2)
3,971,700 4. 1%+ 12+ 123 1,955
Lh.7ei<*(838723)
2,363,500& 4. 1%+ 12+ 123 1,163
2.832+¢ 362,806,000& *1/12 30,234
3.32=Eomts 6,360
Jt.154 0l &~202 0] 2¢
80,0002 2 122 1,920
L+ 10=0[&~15E 012
60,0002 =2 * 122 1,440
Cr.5&0la~10 012
50,0008 x2& * 122 1,200
ct.5=0let 30,0002 5 122 1,800
OHHEd=S) 29,520
1.S0tsAE 1,500,000 x1&* 122 18,000
2. t5=4 11,520
I BN, 40,0002 x6&* 122 2,880
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SH: BeHS
M HZYRAZHI(BAHS)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
LEJIERS 20,0002 x4« 123 960
Ch. R XA 30,0002 x6& 122 2,160
ct. M 70,0002 %5 * 122 4,200
O AMHOIZ KHA
10,0003 x 1= 123 1,320
(S22+9) 15,360
1 SexDey 15,360
p =L rs 80,0002+ 1124 122 10,560
L. oIl et
50,000 x2&* 122 1,200
ChAIRISAIYR4E
70,0002 %3 * 12 2,520
ch Al SIS R+EIR=
30,0008 +x3& * 122 1,080
(ZU2R+E) 52,070
LAIZRIZ222E
11,6023 x34A12H+ 118123 52,070
(AHIZE4 8) 56,441
1.3 NS4 140,000 x12E 128 20,160
2. BEFII 362,806,000& *1.2/12 36,281
(ZZ22xHI) 26,520
1.52 250,0002 1+ 128 3,000
2.68 185,000 x2& * 122 4,440
3.7= 180,000& 32+ 123 6,480
4.895 175,000& x62 123 12,600
=3l 73,918 80,228 26,310
JI=23H] 73,918 80,228 26,310
201 Ler23| 39,488 39,548 260
01 At2teltl 17,640 17,736 VNS §
(2et=24l) 8,763
1L.2N2E S 300, 0002 * 102 *80f% 2,400
2.0lHIZERAIRES
100,000& «12& 1,200
3.0IMERH EH & EH(Esta2 28
) 160, 15023 *6CH*33] 2,883
4. FUSEST2LSESA
26,0003 %102 A 260
5. 01BEMLSEN
80,0002 x62+ A 480
LIBJlel= 20,0002 ~1CH+6E 120
RIBI L (S4, A
25,0003 *2I1 23] 100
8. WA &l 100,000 »2CH*23] 400
9.2ALEX 20,0003 »408} A 800
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SH: BeHS
M HARAZH|(HLHS)
Chel: J1=2ZHI EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
10. 2HUESSLZH0IETVSAZ)
10,0002« 122 120
(extz) 1,797
1L.8=0] Rz (2ote/2 28
30,0002 +3CH+ 12 1,080
2. 3JIHZ0 Ex= 59,7003 123 7
(2d=d) 600
1.2=3aE 60,0003 x1& » 10! 600
(SAMHl) 6,480
1012828 S2 54|
9,000 641 x10E < 12& 6,480
02 S3=24Hl 21,848 21,812 36
(B22= & HAl) 18,088
1.28R= 2,338
Jb. et 4302 +1002A * 122 516
LE.SDI 2,530 #6021~ 123 1,822
2.3 (2832 28
1,000,000& « 122 12,000
3.4t RB(23t52 LE)
100,000« 122 1,200
4. J R L2 (2582 28
300,000& *22 600
5. I 760
L ASAEER
500,000& *1CH*12] 500
Lt XS XHA 100,000 »1CH*12] 100
Ch.BI I A2
60,0003 *1CH*12] 60
ch BN RES
100,000& *1CH*12] 100
6. XSS 1,190
JLASIHEES
1,000,000& *1CH*1=2] 1,000
Lt XS XHA 130,000& *1CH*13] 130
CLEBIIEME==E
60,0002 *1CH*12] 60
(ONE=ES{1E=IN]:}) 3,760
A ERAES 1,000,000 1,000
2. =N ARMB I E4
33,0003 »2LH*42] 264
3 AZUMAAE =R E
33,0003 x1CH* 122 3%
4. SHEXE 7=
100,000 *1CH+ 122 1,200
5. SHEXE #cldl
100, 000& »2CH+32 600
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2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
6. XBEA=NAN HIIEA
25,0002 «1CH =12 300
202 04dl 24,000 26,700 A2,700
01 2L AL 2,400 2,400 0
130 20,0003 102 x2S » 12 x50% 2,400
02 XN 21,600 24,300 A2,700
1.EA0dH 225,000 x8H ~12& 21,600
203 HR=&H] 8,230 9,080 A850
01 J|2=2gedR=a] 5,940 5,940 0
10122824 6,600, 000& *90f% 5,940
02 H3AItAHH R F&| 400 440 A0
13 H RN 40,0002 10 400
MU A2 LRSI 1,890 2,700 A810
1.2A2EHRFALI
175,000 x 122 x90% 1,890
204 Xt AH 1,800 1,800
01 MG HI A A 1,800 1,800
1LAMIHRFAY 1,800
s 150,000 x 12 * 12 1,800
405 KHoHFSHI 400 3,100 A2,700
01 ML ESFSHI 400 3,100 A2,700
1L 2AEXE SHetA Y SL9t0Iet 2
400,000 400
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Al & 0Ol & AFSE Z Ml A
0258 20lat LEBIH L JIBSERIH 1dS ~ =23
FA BLR2S
B 0l WA HO| £ (HAE)
e HE=SXNHEHES (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Bh2s 970,988 910,769 60,219
=0l A Ho| ER(FL2s) 174,746 140,622 34,124
YFAHH=S 174,746 140,622 34,124
.8y N3 152,000 117,000 35,000
301 EetE NS 152,000 117,000 35,000
o7 8% -0 - H¥Es243 152,000 117,000 35,000
.88+ ¥ 234l 152,000
rol=eE 400,000 x25E « 12 120,000
L. &0z 400, 0003 x25H <23 20,000
Ch.2lo&o
20,0002 x25EH*23| 12 12,000
FUNXMEEZ )Y 2 3,480 3,480
201 et 3| 3,480 3,480
01 At2t2l] 3,480 3,480
(2er=2Hl) 3,480
1.2 AIME 28
100,000 * 122 +90% 1,080
2. FRURXIME A (292U A!)
25,0002 +8Al 2t 128 2,400
A= X2t 10,266 10,142 124
101 ©1AH| 7,406 7,282 124
M ORINZZ2NSE S 7,406 7,282 124
1.2+ 6.620
DIR= 1t
80,2402 /BAI2H+1H+55A1 2hx 128 6,620
2NENRY 282 736
=S EE= 6,620,000 4. 5% 298
L. =0AZEE=
6,620,000 *3.545% 235
Ch el RYdPE=
235,0002 *12.95% 31
ch.UEEE= 6,620,000 *1.75% 116
OHAMTHEE = 6,620,000 *0.84 1% 56
3. A2 H & 50,000& 112 50
201 er23 | 2,800 2,860
01 At2teltl 2,860 2,860
Lozl rr=
220,000 x 122 2,640
2. MM 2
110,0003 *1JH 223 220
FUFO A SO AL 9,000 10,000 A1,000
401 Al HIZL 201 9,000 10,000 A1,000
01 Al&H| 9,000 10,000 21,000
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SH: Bars
M 0 MY WO TR(FA2E)
e HE=SXNHEHES (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
.84 ol=i S& & AOE =% X
9,000,000& 9,000
SADIEBAIE HBI(EAR2S) 5,000 5,000 0
SAIDIEHAIE EHI 5,000 5,000 0
2E2F AE= ZH| 5,000 5,000 0
401 Al HIZL S 0HYI 5,000 5,000 0
01 Al&HI 5,000 5,000 0
1.4E25 AlEES 7A2e
5,000,000& 14 5,000
YA LU (B AR2S) 791,242 765,147 26,095
el 2E | 707,805 684,564 23,241
elIg =3l 707,805 684,564 23,241
101 e124d| 707,805 684,564 23,241
01 2= 707,805 684,564 23,241
(=2) 487,164
1.28H(1) 88,925
s 87,181,000& 1 87,181
B SSESY Fals ] 87,181,000 «2% 1,744
2. 888 (1Y) 398,239
ot.6=(208S) 4,108,300 «2& « 12 98,600
Lh.72(1283) 3,125,400 ~4H 123 150,020
Ch.e=(783) 2,363,500 x5 123 141,810
S SSESY Fals] 390,430,000 *2% 7,809
(at0i=d) 43,487
1LURsREE 2,980
otes UR(72 1883)
3,594, 7002 x 12 *4 1%+ 123 1,769
Lt.72 U<(8= 853)
2,450, 003 x1E 4. 1%+ 123 1,211
2.82+4 398,239,000& 1/12 33,187
3.32+git= 7,320
Jt.1580[a~202 0] 2
80,0008 *x3& * 122 2,880
L+. 10 01 &~15E 012t
60,000 1 * 122 720
CH.5E0la~1040] 2
50,0002 x5 * 12 3,000
ct.5E0let 30,0008 x2& * 122 720
OHAEdS=H) 3,360
1.0t5=¢ 3,360
N BN, 40,0002 =32+ 123 1,440
LEJIEDES 20,0002 x5 123 1,200
BRI PNIE 30,0008 x2& * 122 720
(S+=22+9) 17,160
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SH: Bars
M HZYRAZHI(BA2S)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CES e 17,160
pIR==LE 80,0002 +1124 128 10,560
REEEE
50,0002 *x38 * 122 1,800
ChALRISXIS R
70,0002 x4 * 122 3,360
ch ARSI RSEI=
30,0002 x4 122 1,440
(ZU2R+E) 52,070
REIEE =
11,6023 *x34A1 2t 11E 123 52,070
(24 8) 59,984
[ESE=ga]:] 140,0003 * 122+ 122 20,160
2. 3&=JHl 398,239,000& *1.2/12 39,824
(SOFA=F) 18,000
1.S0tsAE 1,500,000 x1&* 122 18,000
(HZ2EH) 26,580
1.558 250,0003x 1 ~12& 3,000
2.6 185,000 x2& * 12 4,440
3.7 180,000& x4~ 123 8,640
4.895 175,0008 x5+ 123 10,500
Jl=3H| 83,437 80,583 2,854
Jl=23H] 83,437 80,583 2,854
201 eer23y| 44,617 40,613 4,004
01 AtR2t2lHI 21,761 20,397 1,364
(er=2Hl) 11,912
1.2AN2E Sl 300,000& 12 80% 2,880
2.0HI2HR AIRES
100,000& «12& 1,200
3.e150Ie12 20,0002 x4 x 122 960
4.2l0IMEH 200,000 *4CH+*33] 2,400
5.dI0INES 200,000 +82] 1,600
6.FUSESE==2LSSE
26,0003 178 A 442
7AHEENLSESFEN
80,000 78t A 560
SAEX 20,0003 »402f A 800
9.0IEVAIERS 20,000 * 1204 & 240
0.83505= H4UHEY +5&
330,000 %13 330
naadacls 223+
500,000 500
(dxt=z) 1,473
1.8=7] 30,000 12« 1CH 360
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NP
HYSAHHI(BA2S)
23l
SA - B ORI(B1) - HIRAY - BES A
2.3IIHAIN(AAH)
33,0003 =123« 1CH 3%
3.2 M| 59,7003 =123 «1CH 77
(2g9=4) 600
1.e=8H 60,0002+ 1 *10 600
(S2]) 7,776
ISEEERSTEEE N
9,000 x6Ax 12T+ 12& 7,776
02 S=29| 22,856 20,216
(B32SLHA 16,630
1.R82 3,810
Jb. Bt 430 %1502+ 12& 774
Lt.S21 2,530 10021+ 12& 3,036
2. 80|12 800,000&*12& 9,600
.40t 2 60,000& * 12& 720
4WHTHASSE 100,000 +18] 100
5.EsmET Baa
1,000,000& *2CH*13 2,000
6. sHEXE KHSHA
130,000 *2CH* 13l 260
7 SHENSEIIASSE
70,0002 x2CH*13] 140
(e24l) 1,072
1. A2 A 1,340 %4 § *4A| 2+x502 1,072
(AIE&HIKXIH]) 5,14
1.3AAE 1,000,000& 1,000
2.2AHE S| 100, 0002 1CH 100
3.7 50,0002 *3CH 150
4. 2REOIAAES X EH|
33,0002 x2CH*43| 264
5. XIZ2IAMAAE RXE2H|
30,0002 x 128 360
6. SIS HZH|
120,000 =2CH* 1200 & 2,880
7. SHEXE =2l
100,000& *2CH*23] 400
202 (44| 27,900 27,900
01 =WOdbI 3,600 3,600
1.3 20,0002 x 10 x3H = 122 x50% 3,600
02 M| 24,300 24,300
[=E0] 225,0003x9H « 122 24,300
203 PYR=&H| 9,120 9,120
01 J|22H PR FA| 5,940 5,940
1. 7| 22H PR FA| 6,600,000 x90% 5,940

_19_




od
i’
o
uJ

o o O | o
no
KIo
E
E=]
(@)
2 B |88
[eN] — | —
LH3r
I1<)
RIS
8 8 3 81818 8 8
NN @
oV N[~ — —
al
<
b=
B0 S o
N 4 q
o | & O =
) g ol ol
1] S 8 8
a1 3 g
=
s
3
= |z =z T 5
N e S
o IkE KEOKREKE w0 R
o |or oF oF OF ||« K
oy [z & @ @ |m(o- OF
S ETRETRR ORI - f o R R
ol ® < X |oF (& &
RO fgo =0 oF Dk [Rr[rr RTA
z |82 |85~
Ik




Al A

L GR(B) - HIRAY - BER A HIDEZ
1,082,510 998,872 83,638
241,266 194,742 46,524
241,266 194,742 46,524
182,400 140,400 42,000
182,400 140,400 42,000
SE4d= 182,400 140,400 42,000
182,400
400,000&+30 128 144,000
400,000 *30H *23] 24,000
20,0003 30 23|+ 123 14,400
INXIMEHEZ S 2 35,220 32,820 2,400
35,220 32,820 2,400
35,220 32,820 2,400
1,620
150,000 * 122 »90% 1,620
33,600
= 33,600
PAIRA
25,0003 +8AI 2t 128 2,400
Lb. XA 25,0002058AI 24+ 122 2,400
Chotenmal 25,0002 *BA| 2122 2,400
2k IIBHE 25,00021x8AI 24+ 122 2,400
OF. A0l Bt 25,0003 +8AI 2t 128 2,400
te=l ENES=ED
25,0003 «8A| 2t 12& 2,400
BZ0|8HD28)
25,0003 *8AI 2t 12& 2,400
CHERA(E38)
25,0003 +8AI 2t 128 2,400
LrEua(ast)
25,0003 «8A| 2t 12& 2,400
PNRTETDIES 25,00021x8AI 24+ 122 2,400
oh.2IHZE2H) 25,00021x8A| 24+ 122 2,400
Et.EH=T 25,0003 +8AI 2t 128 2,400
It 2IH0F2) 25,0002 *BAI 2+ 12 2,400
ot At At 25,0003 *8A| 2t 12& 2,400
AR A2t 13,646 11,522 2,124
101 @124H| 7,406 7,282 124
0 JItHI2E2 U SEs 7,406 7,282 124
(SHAH B2 0129) 7,406
1.8 6,620
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2H: BMsS
B 0l WA HO| £ (HMIE)
el AHISAHE 29 (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
T
80,2402 /BAI2H+1H+55A1 2hx 128 6,620
2 NENRY 282 736
JLATHEE = 6,620,000 *0.841% 56
L. IS2EE= 6,620,000& *1.75% 116
Ch.=oodsSEEs
6,620,000& *4. 5% 298
ch.mUHITEFEE
6,620,000 *3.545% 235
O QI EDIRAEEE
235,000 %12.95% 31
3. 22 & A4& Y|
50,0002 x1H 13 50
201 er23| 3,840 3,240 600
01 AtR2t2|HI 3,840 3,240 600
1.ReFdl2Ael =
240,000 * 128 2,880
2BABI I E U=
180,000& *1JH 2:%22] 360
3.EAL S8 FA2| FAa
300,0003 *17H A:x23] 600
401 Al HIZ S 0HbI 2,400 1,000 1,400
01 AlZ2H| 2,400 1,000 1,400
1.BAL 25 SctelE WA 2,400,000 2,400
FUFAHU A SEOHEAS 10,000 10,000 0
401 Al HIZL S 0HYI 10,000 6,500 3,500
01 Al&HI 10,000 6,500 3,500
LE2gZl=s FEHYA ANE £X
10,000,000 * 14| 10,000
SADIEAIE HEI(EA3S) 8,900 8,300 600
SAIDIEHAIE EHI 8,900 8,300 600
2E2F AE= ZH| 5,000 5,000
401 AIEHIZ SR HYI 5,000 5,000
01 Al&HI 5,000 5,000
1.4E25 AlE2 sA2e
5,000,000 14 5,000
AsLdll 212 A KXl2 3,900 3,300 600
201 er2 3| 3,900 3,300 600
01 At2teltl 600 0 600
.38 |RAACIES
100,000 63 600
02 S3=gHl 3,300 3,300 0
1. 2J|12= 200,000+ 122 2,400
2.+ER3 75,0003 * 122 900
M2 ALHI(EA3S) 832,344 795,830 36,514




2H: BMSS
M HZYRAZHI(BA3S)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
el 2| 737,984 707,416 30,568
el 24| 737,984 707,416 30,568
101 @124H| 737,984 707,416 30,568
01 2= 737,984 707,416 30,568
(23) 511,593
1.E8M018) 88,925
h.sE 87,181,000& *1& 87,181
Lt XS0 & 87,181,000 *2% 1,744
2.2 2E(13Y) 422,668
t62(2153) 4,172,000 2E* 123 100, 128
Lh.72(988) 2,839,500 x4H 128 136,296
Ct.82(623) 2,263,500 «4E12E 108,648
ct.9=2(858) 1,925,200 x3E « 12 69,308
OF. X < IH & 414,380,000 *2% 8,288
(&0i==d) 45,486
1LUes2EE 2,703
oteEtR(721083)
2,939, 1002 4. 1%~ 123 1,447
Lh72U<*(83958)
2,551,700 4. 1% 123 1,256
2. 824 422,668,000&*1/12 35,223
3.82=Eut= 7,560
J+.20= 01 &~25 01 2
110,000 x 12 * 122 1,320
L. 15801 &~20 012t
80,0002 x1&x 12 960
Ct. 1001 &~15=012¢
60,0002 x 1 * 122 720
ct.5H0(&~104 02
50,0002 x4~ 12 2,400
OF.5&012 30,0002 x6& 122 2,160
O =H) 2,520
1.1EE 2,520
/N BN, 40,0002 x38* 122 1,440
LE.JIEDFS 20,0002 %3~ 12 720
Ch. R XA 30,0008 x1&x 122 360
(S+22+E) 20,280
1L.Ex82E 20,280
hS2R+E 80,0002 x13EH «12& 12,480
Lt 2 AAR
50,0008 x3& * 122 1,800
Ch AR SXER+E
70,0002 68 122 4,200
ch AR SIS R=EI=
30,0002 x5« 123 1,800
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EAR3S
B 2 2| (2 ABE)
Ol 2] M)
SA - BB - S(3H) - MRAY - BES A 2t
(ZD2249) 61,538
1Al R R4
11,6023 *34A1 2t 13« 128 61,538
(AHI2Aa S) 65,787
1. A HZ A 140,0002 x14H x 128 23,520
2. HE S| 422,668,000 +1.2/12 42,267
XNZEXHI) 30,780
1.5 250,000& x 1+ 12& 3,000
2.62 185,000& 2= x 128 4,440
3.73 180,000& *4H x 122 8,640
4.892 175,000 7Y« 128 14,700
J 94,360 88,414 5,946
J|12&hl 94,360 83,414 5,946
282 AH| 49,200 45,064 4,136
At22tel b 19,727 18,791 936
QU4 2H|) 10,703
1. 2SS H| 300, 000! x 132 *x80% 3,120
2.0HIZHR2ARES
100,000 x 12& 1,200
3.FUSESE=2EAX
26,000 x258F A 650
4 02SHALZ2E2X]
80,000 x128F A 960
5. dI0IHEH 140,250 *4CH*33] 1,683
6.0l HEH 100, 000& *3CH*23] 600
7.01=50|2l2 20,0002 *x3H+6& 360
8. AE 90,000 *2CH*23| 360
9. Z2JI M= 59, 700&x1CH* 128 717
10. 2 AIEX] 20,0002 x 128 A 240
1. 80| Xtz 30,0002 122 =2CH 720
12.A4012TVbl = 7, 7002 10Hx 128 3
SALE 600
IR EESES=, 60,0002 x1H %10 600
=24M]) 8,424
1.J|2gF+#E23AIHI
9, 000364 x 13-« 128 8,424
02 SZ22Z| 29,473 26,273 3,200
2222 < HAl) 22177
1.9282 4,767
Jb. Y8t 4302 x 10024 *x 128 516
L. S| 2,530& % 14021+ 12& 4,251
2.8J|e=2 1,100,000~ 12& 13,200
3. M6l +ER2 130,000 * 12& 1,560
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2H: BMSS
ZH: HY2AA|(FMS
=9l Jl=3l EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
4. 83X A 300,000& %12 300
5. SHIXE 960
I ASIAEER
800, 00021 *1CH*13] 800
Lt XS XA 100,0002!*1CH*13] 100
CHEIZASSE
60,0003 *1CH*13] 60
6.XESESXNE 1,390
IFASHES=
1,200,000 *1CH*12] 1,200
Lt XS XHAl 130,000 * 1CH*13] 130
Ch &I BA === 60,000+ 1CH*12 60
(NEHBIRXIHI) 7,2%
LEMNASFAIE8I 2,000,000& 2,000
2. 1A 100,000 2CH 200
3.&==J] 50,0002 «2CH 100
4. HZBSFH 100,000 *1CH 100
5.2 0IA A ST
33,0002 43| +3CH 3%
6. XA2UAMAIAE S
30,000~ 1CH* 122 360
7.suEN 224
120,000 *1CH* 120 2 1,440
8.seFIY w2l
100,000 »2CH*32] 600
9.dtHI| FXIEH|
150,000 * 14CH 2,100
202 04l 34,200 32,040 2,160
01 =LHAHI 7,200 5,040 2,160
1.=LHObI 20,0002 x102+3&* 12 7,200
02 A0 27,000 27,000 0
1.2 NI 225,000 <108~ 128 27,000
203 =] 9,160 9,160
01 D22 HARFA| 5,940 5,940
10122824 6,600,000 *90% 5,940
02 FRItAA =AY 520 520 0
13RS R A 40,0008 * 13 520
M A2 LRFEI 2,700 2,700 0
1L.2AE2EE R4
250,000 x 122 *90f% 2,700
204 MR AH| 1,800 1,800
01 MG HP=HAHH| 1,800 1,800
1. AMGHR=AY 1,800
s 150,000 x1&* 122 1,800
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g 8 A A

2H: LS
B 0l HE HO CR(LAE)
el HESKEEH 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Es 1,081,412 947,379 134,033
=0 N Ho E2(LRE) 249,006 195,722 53,284
YIS 29 249,006 195,722 53,284
.8y N 200,640 145,080 55,560
301 EetE NS 200,640 145,080 55,560
o7 8% -0 - H¥Es243 200,640 145,080 55,560
1.88+g 4 54 200,640
rol=eE 400,000 x33E «12& 158,400
Lt.&f0iS 400, 0002 *33H 23] 26,400
ChEA=E 20,0002 x33E »22| « 12 15,840
FUMXHHEIZ Y 29 28,020 30,420 A2,400
201 fer= 3| 28,020 30,420 2,400
01 At 2t 28,020 30,420 22,400
(LEH2HHI) 1,620
1.2 AIME 28
150,000& x 122 «90% 1,620
(2d=d) 26,400
1.=2AXME At 26,400
=9
25,0002 *BAI 2t 1) 2% 12 2,400
Lhoteuwal
25,0002 +BAI 2+ 1JH A% 12 2,400
Ch.ctoleA
25,0002 *BAI -+ 1) 2% 12 2,400
ch.RItua
25,0002 *BA| 2+3 - x 12 7,200
O gt=0{uwal
25,0002 +BAI 2+ 1JH A% 12 2,400
Bt &7
25,0002 *BAI -+ 1) 2% 122 2,400
AH.CHOIO1 E&etRl E A
25,0002 *BAI 2t 1) 2% 12 2,400
Oh.St2LItm A
25,0002 +BAI 2+ 1JH A% 12 2,400
At oA
25,0002 *BAI 2t 1) 2% 12 2,400
A= X2t 10,346 10,222 124
101 eI24d| 7,406 7,282 124
M ORNZZ2NSE S 7,406 7,282 124
1L.SEAMN 34 A2Y 7,3%
HolEs
80,240/8A1 2hx 1B +55A1 2+ 12 6,620
LEATHES 6.,620,0002 %0.841% 56
ChOEEE 6,620,000 *1.75% 116
ct. =22 6,620,000 4. 5% 298
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2H: LS
M =0 #MEY Ho E2(LAS)
Chol: MESTME 2 (Hol: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O =21A22S 6,620,000 *3.545% 235
B EQIEDIQAEH
235,0002 *12.95% 31
2. AL B &I 50,0002 x1H*13] 0
201 2= 2,940 2,940
01 AlR22IH| 2,940 2,940
1. 2oIAY 2R H 2
230,000 128 2,760
2 HNTIIQHYB A4
180,000& *1JH A+ 12 180
FUHCUH A SEHEAS 10,000 10,000 0
401 AIEHIZ SR THYI 10,000 10,000
01 AlZ8| 10,000 10,000
1. LEDESIS &XI(S BUE Alg)
10,000,000 * 14! 10,000
SADIEAIE HEI(=ES) 5,000 5,000 0
SAIDIEIAIE EHI 5,000 5,000 0
A== ANE=E FHl 5,000 5,000 0
401 Al HIZ S OHbI 5,000 5,000 0
01 AlZ2H| 5,000 5,000 0
1.4=25 AldE |2
5,000,000 * 14 5,000
HY2HIHI(=RS) 827,406 746,657 80,749
eIE =g 732,713 659,916 72,797
el =gl 732,713 659,916 72,797
101 @1A4H| 732,713 659,916 72,797
01 2= 732,713 659,916 72,797
(22) 504,716
1L.esSM0g) 88,925
h.s& 87,181,000&*1& 87,181
BpSE ) Fal:] 87,181,000& 2% 1,744
2. M2 E(139) 415,791
ot.62(1853) 3,971,700 «2F 128 95,321
Lh72(958) 2,839,500 x4&E 12 136,296
Ch.s2(628) 2,163,600 «5E « 12 129,816
ct.9=28&3) 1,925,200 x2&* 122 46,205
O X0 407,638,000 *2% 8,153
(& =¢) 47,899
LUesRE=< 5,329
b 52UR(63172S)
3,897,500 x2& *4 1%+ 12& 3,836
Lt.e2tH*(7211E3)
3,033, 1002 x1& 4. 1%+ 123 1,493
2.82+¢ 415,791,000 *1/12 34,650
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2A: LS
Hu: HH2HAY|(CHES)
el QIEE2E ESR=ED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
3.Z24EIHNZ 7,920
J. 15101 44~201 01 8
80, 0002123 122 1,920
Lt 1001 &4~ 15140 2t
60,0002 %1%+ 122 720
Ch.5E01&4~1010| 8t
50,0002 %72+ 122 4,200
2510/t 30,0002 %324 122 1,080
OPREE) 2,400
1.0tEag 2,400
p[RUES 40,0002 1%+ 122 480
Lk JIEDES 20,0002 %3%* 122 720
o DIE 30,0002 %1%+ 122 360
2t S MR 70,0002 %1%+ 122 840
(S+22+E) 20,280
1. S4EeLy 20,280
hs2ssy 80,0002 1324 » 122 12,480
Lt oI e
50,0002 %3% 122 1,800
ChAlEI =X Y Rag
70,0002 %5% * 122 4,200
2k ALEI S X RSt A
30,0002 +52 122 1,800
(2D224E) 61,538
I EEEES
11,6022 %34 A1 213 122 61,538
(AHI24S) €, 100
1LEMZA| 1400002 x 14+ 122 23,520
2. BEEIM| 415,791,002 +1.2/12 41,580
=G 30,780
.52 250, 00024124 122 3,000
2.62 185,00024+2 * 1224 4,440
3.72 180, 00021 +42* 122 8,640
4893 175,00024+724* 122 14,700
= 23| %,693 86,741 7,952
o=l %,693 86,741 7,952
201 LBr2 | 53,133 45,181 7,952
01 AR 22lt| 26,071 20,445 5,626
EEE==)) 12,346
RV = R=t] 300,0002! 132 +60% 3,120
2.HHIZLRARE S
100,000 * 122 1,200
3.0 HEL 204, 60021 %4 CH 45| 3,274
4.0 HEE 100, 0002 #4CH12] 400

_28_




2H: LS
HE: HESAAY(-AE)
Chel: J1=2ZHI EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
SAESIIEH 50,0002 *2CH*13] 100
S.z281 35,0002 #2552 875
7.0 25yu3S+8T|
91,5003 152 A 1,373
8. 5ALE X 25,0002 x602 A 1,500
9.21&7|2l2 20,0003 «1CH* 123 240
10.HI0I=TVmtl = 22,0002+ 12& 264
(2g9=4) 600
e RS 60,00024%124%102 600
(S4141) 8,424
ISIELESTEE W
9,000 x6A 13 12& 8,424
(gxt2) 4,701
1.8=D| 30,0003 «2CH* 123 720
2.2J|1EED| 864
b ZF0IME(14HE)
18,0003 *2CH*12& 432
F2ROIXRIAIE (14EE)
18,0002 x2CH+ 123 432
3.2INHD| 59,7002 1CH+12& 7
4. ZHZEIH 200,000 x1CH+12& 2,400
02 3324l 27,062 24,736 2,326
(3322 Z XAl 21,946
1.28= 5,586
Jb. et 4303 *20021 12 1,032
Lt.S21 2,530& x 15024+ 12& 4,554
2. 818 1,100,000& = 12& 13,200
3.4.0lE= 80,0003 *12& 960
4. 8}XE LT 260,000& *13] 260
5. X2 1,510
ot SHEXS 510,000& *1CH*13] 510
L. XEE=EXXE
1,000,000& *1CH*13] 1,000
OB A2 60,0002 x2CH* 13| 120
SHEMHRE 2 (SR
150,000 *1CH 150
8. X SXHI(SEHEX ) 160
te=2EH 30,000 *1CH*13] 30
Lt. XSS MOt
130,000& *1CH*13l 130
(A ZHIKXIH]) 5,116
1. HELSEI 100,000 *1CH 100
2. BMNAERXEHI
900,000& * 14! 900
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2H: LS
HE: HESAAY(-AE)
Chel: J1=2 &l EEREE
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
3.ZA )| 2ot MA
100,000 = 12CH 1,200
4. &I RFL|
130,000 x1CH* 12 1,560
5. X ==clH|
100,000 »2CH*33] 600
6. = SOIA|ABRS X 2=
11,0002 x3CH = 128 3%
7. XN2UAMA A S XS ==H]
30,0002~ 122 360
202 04| 30,600 30,600
01 =LHOLI 3,600 3,600
1.=LH0d8I 20,0003 * 10 x3H + 123 +50% 3,600
02 XN 27,000 27,000 0
12408l 225,000 x10E 122 27,000
203 HR=AH] 9,160 9,160
01 J|2=gg Ayl 5,940 5,940
1012288254 6,600, 0002 *90% 5,940
02 2 JRHH 2= 520 520 0
1LEAIME R =A] 40,0002 13 520
M FA2HLRFAI 2,700 2,700 0
1L.2A28E R4
250,0003 x 122 «00% 2,700
204 APt AH| 1,800 1,800
01 A I AR -] 1,800 1,800
LAMSH =AY 1,800
DI ==ry 150,000& x 12+ 123 1,800
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2A:

MRS

F2: CADIBIAIE FHI(M421S)
Sl ZAIDIBAIE EH| SPESED)
SA - BB - SRAGEH) - NS - BES i s
SADIBIAIE FHI(AE1S) 5,000 5,000 0
ADJIBEAIE EHI 5,000 5,000 0
ABS ALE FH| 5,000 5,000 0
401 AIEHIL ORI 5,000 5,000 0
01 Al&H 5,000 5,000 0
1482 AE2 22
5,000,000& 14! 5,000
HE2HZH|(A21S) 1,102,542 1,010,393 92,149
el 2 991,094 902,511 88,583
eI 2| 991,094 902,511 88,583
101 @124d| 991,094 902,511 88,583
01 2= 991,04 902,511 88,583
(22) 661,766
1.ASH(1Y) 88,925
s% 87,181,000& x1H 87,181
B aySEY Falal 87,181,000 *2% 1,744
2. 238 (17Y) 572,841
h6= (245 3) 4,341, 7002 +3~ 123 156,302
Lt.72(10=28) 2,939, 1002 5« 128 176,346
Cte2(7ss) 2,363,5002 4G« 123 113,448
et.9=2Bss) 1,925,200 «5H 123 115,512
Ot X< IH4 bl 561,608,000 *2% 11,233
(&H0142) 63,771
(V==L LRSS 4,99
h53US(62RE2)
4,660,000& *4. 1% 123 2,293
Lt.e2tiR(731258)
3,125,400 4 1%+ 128 1,538
Ch.72tie(8278S)
2,363,500 4. 1%+ 128 1,163
AI2eE 572,841,000&1/12 47,737
3. 823 11,040
Oh. 251014 130, 0008 <124 x 122 1,560
L+.201 0] A~251 0| 2F
110,000& x1H 122 1,320
CF. 154401 4~2014 01 2
80,0003 x1&x 128 960
ch.10E 0l a~15E 0/ 8t
60,0002 x224» 122 1,440
DF.54401 4~10:1 0| 2¢
50,0002 6~ 12 3,600
Ht.50let 30,0002 6 * 122 2,160
OHErY) 29,280
1.5 11,280
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SN MRS
A #ZYRAZHI(&2A1S)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
N BN, 40,0003 7 *128 3,360
LE R XA 30,0002 x5 122 1,800
Ct.E XA 70,0008 x2& * 122 1,680
ch AU AHA 110,000& x 12 =123 1,320
OF.DIEF JtE 20,0002 x13E«12& 3,120
2.20tsX+2 1,500,000 x1&* 122 18,000
(S+=28+2) 28,920
| SR eig 28,920
hEaesy 80,0002+ 172+ 122 16,320
Lt ol
50,0002 +3% 12 1,800
ChAMBI =X QR4
70,0002 %0 12 7,560
ch AR SXI RIS
30,0002 49 128 3,240
(Z222+9) 80,472
BRI EER
11,6022 «34A| 2H+ 178« 123 80,472
(24 8) 87,525
1. 3As4H| 140,000 x18E < 12& 30,240
2. BE=FJtHI 572,841,0008+1.2/12 57,285
(HZ2EH) 39,360
1.58 250,000« 1H =122 3,000
2.6 185,000& x3&*12& 6,660
3.72 180,000 x5 * 122 10,800
4.8~958 175,000 0~ 12 18,900
Jl=23H 111,448 107,882 3,566
Jl23H] 111,448 107,882 3,566
201 er=23y| 58,175 56,157 2,018
01 AtR2t2|HI 24,371 22,823 1,548
(B2 ) 11,606
1. 2A2E =2 300,000 x 16 +80% 3,840
2.0HIZ2HR2ARES
100,000& « 12 1,200
3.UOIMERIHEH/EY
200,0002 +7CH*23 2,800
4. FUSESZ2EX
26,0003 158 A 390
SRRV E S EN
80,0003 102 A 800
6. SALEX 25,0003 *602f A 1,500
7.2EMESIIEH 100,000 * 1CH*23] 200
8.91&7|el2/¢3 20,0003~ 1CH+6E 120
9. UESAUHUAIY FXI22=H]
25,000~ 12 300
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SN MRS
M HY2AAH|(A21S)
Chel: J1=2ZHI EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
10.Cl1eHY =2 15,0002 23|« 12& 360
NnAOIEVAZ 8,000 x 101+ 12& %
(gxt2) 1,797
1. 80|18 x 2 30,0003 «3CH* 123 1,080
2.3 HAINLX= 59,700& x12& 717
(2g+4) 600
.28 60,000 * 110 600
(4l 10,368
1| 2R EIZ A
9,000 x6A1x 16K+ 12& 10,368
02 32| 33,804 33,334 470
(3322 ¥ HAl) 28,192
1.28= 5,070
Jb. et 430210021+ 123 516
Lt.S21 2,530& x 1504+ 12& 4,554
2. 8012 1,500,000& * 12& 18,000
3.40tER23 200,000& =123 2,400
4. 83X+ 300,000& *13] 300
5. XSSHHSED] 6,000& =128 72
6. sHEX 960
It AsSXHEER
800,000& *1CH*13 800
Lt XbS XA 100,000& *1CH*13] 100
CHEIIE M2
60,0002 x1CH*12] 60
7. XSS SR 1,390
I ASKHEER
1,200,000 *1CH*13 1,200
Lt KbS XA 130,000& *1CH*13] 130
Ct.EJIZ A2
60,0002 x1CH*12] 60
(ONE=FSi=[E=DN]=]D] 5,612
1.8AH= 1,500,000& 1,500
2.2AHE S| 100,000 *1CH 100
3. HEFUSEHI 100,000 *1CH 100
4.2==D| 50,0002 *2CH 100
5. 2Q1E0IA\AE RXE4H|
33,0003 *43| 132
6. NZCIAMAIAE RXIE==H|
30,000& *12& 360
7. SHEXE 2=2ld|
100,000& *1CH*33] 300
8. UESHSXXH 2|
100, 0003 *1CH*32] 300




==
B HESAAY|(MAIS)
s Jl=2ghl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
9.S¢IXY RFM
150,000 *1CH* 12 1,800
10.XEESANNY HI| ML=
35,0002 *1CH+ 122 420
N.ExS(SIAH) SHaHl H2S=
100,000 %52 500
202 04l 38,700 38,700
01 2LHoIH 3,600 3,600
1.=U 08I 20,0002 * 102 x3B 122 +50% 3,600
02 A0 35,100 35,100 0
1. 2NN 225,000« 13+ 122 35,100
203 =4l 9,820 9,820
01 1228 RFa| 5,940 5,940
1.0 228 YR8 6,600,000 *90% 5,940
02 FRIHAHA =TI 640 640 0
13N R A 40,0008 162 640
M A2 LRFEI 3,240 3,240 0
1L.2A28E R4
300,000 * 122 *90f% 3,240
204 MR AH| 1,800 1,800
01 MM SR 1,800 1,800
[k == Eaaraial 1,800
h.s& 150,000& x 1= 123 1,800
405 AHaHE = 2,953 1,405 1,548
01 ML ESF SHI 2,953 1,405 1,548
1.2 THITAIAE 2,953
b =asy) 1,815,000 *1CH 1,815
LE AT 423,500 +2CH 847
CH.OoI=E2] 96,8002 «30H 291




Al A

=3 o
0258 20lat LEBIH L JIBSERIH 1dS ~ =23
M M
B ZE0IMEHEO R (AMAE)
el AE=SANEEHESE (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
LA 926,126 890,591 35,535
ST S I (AHH2E) 170,686 141,162 29,524
YFAHH=S 170,686 141,162 29,524
.8y N3 127,680 98,280 29,400
301 EetE NS 127,680 98,280 29,400
o7 s&-01&-¥Egse 127,680 98,280 29,400
.88+ ¥ 234l 127,680
rol=eE 400,000 x21E«12& 100,800
L. &0z 400, 0003 x21H 23] 16,800
Ch.2lo&o
20,0002 x212H*23|x 122 10,080
FUNXMEEZ )Y 2 23,220 23,220
201 et 3| 23,220 23,220
01 At2t2l] 23,220 23,220
(2er=2Hl) 1,620
1.2 A B =1
150,000 * 122 x90% 1,620
(2e=¢) 21,600
LR M Z A 21,600
b AZIHA(EZ)
25,0002 =8Al 2t 12 2,400
LI AZXHA(ES)
25,0002 +8Al 2t 122 2,400
ChAZ=EA(DF)
25,000 *8Al 2t 128 2,400
ch.=s|sna
25,0003 *8AI2H+ 128 2,400
Oh & WA (F24)
25,0002 +8Al 2t 122 2,400
b & W A(0F2)
25,000 *8Al 2t 12 2,400
Ab.2stna 25,0002 x8Al 2t 12 2,400
OF.CIOIHEHA
25,0002 +8Al 2t 122 2,400
Aot 25,0002 +8Al 2t 122 2,400
A= X2t 9,786 9,662 124
101 21AH| 7,406 7,282 124
04 JIZtN2Z2 XS E+ 7,406 7,282 124
(SEAL 4 22 7,3%
1.8= 6,620
e
80,2402 /BAI2H+1H+55A1 2h+ 128 6,620
2NENRY 28= 736
b =RHdEE=
6,620,000 *3.545% 235
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M M
M FOIMKEO|ED(AAE)
e HE=SXNHEHES (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
L =) QdEE=
235,000 *12.95% 31
Ch.=2ldsS28=
6,620,000 4. 5% 298
ct.ISEE= 6,620,000& *1.75% 116
OHAMTHEE = 6,620,000 *0.841% 56
3. A4ZH Y| 50,0003 x 1 *13] 50
201 er2 3| 2,380 2,380
01 AtR2te|HI 2,380 2,380
1. felBd2e| s+
180,000 «12& 2,160
2. EARIIQTHALLR
110,000& * 174 2:%22] 220
UMM SHEHEAS 10,000 10,000 0
401 AlEHIZ 201 10,000 0 10,000
01 Al&H| 10,000 0 10,000
1012 E30HE 10,000,000 10,000
SADIBAIE HBI(&A28) 5,000 5,000 0
SAIDIBEAIE EH 5,000 5,000 0
A== AES EHl 5,000 5,000 0
401 Al HIZL 201 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1.A25 AI2E |2l
5,000,000& *14] 5,000
HY2HHH|(&225) 750,440 744,429 6,011
ek | 661,894 666,247 A4,353
elIg =3l 661,894 666,247 A4,353
101 e124d| 661,894 666,247 A4,353
01 &= 661,894 666,247 A4,353
(=) 461,061
1.HESM(18) 88,925
s 87,181,000 1 87,181
B SSESY Fals ] 87,181,000 *2% 1,744
2. M8 (1Y) 372,136
ot.6=(1988) 4,042,1002 28«12 97,011
Lh72(928) 2,839,500 x5 12& 170,370
Ct.82(588) 2,163,600 «2H 122 51,927
ct.92(253) 1,897, 1002 x2E «12& 45,531
OF. M < IH & 364,839,000 *2% 7,297
(&0i==d) 42,669
1L.URsREE 3,977
J6=1823 3,971,700 +4. 1%~ 123 1,955
Lt.62205S 4,108, 300& #4. 1%+ 12& 2,022
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2A: s

MR 22| (L22S)

ool ol )
B - S2A(3) - HRAY - BaS A 2
23248 372,136,0002%1/ 12 31,012
3.HIALINNB 7,680

J}.201 0 44~25¢10] B
110,000& x2&* 123 2,640
L. 10 0l &4~151 0] 8t
60,0002 x3&* 122 2,160
C.5E101 &~1012 012
50,0002 x324* 128 1,800
2.5:0/8t 30,0002 +32 122 1,080
OPI2E+E) 4,920
1.0t54g 4,920
DI BN, 40,0002 x4 x 122 1,920
Lt JIEDIS 20,0002!x32* 128 720
Ch R TR 30,0002 42 122 1,440
ChEM R 70,00021% 12+ 122 840
(S+224H) 17,160
1. SaE 24 17,160
==t e 80,0008 1124x 128 10,560
Lt oleigieey
50,0002 +3&~ 12 1,800
ChAFSI =X QR4 gt
70,0002 4%+ 1284 3,360
SINCEIEEERSSIIS
30,0003 4 * 128 1,440
(Z22=E &) 52,070
1.AIZteI 224
11,6023 34 A1 2t 11H 122 52,070
AHIEASE) 57,374
1.3 g 4| 140,000 x12E 128 20,160
2. 2E=IHI 372,136,000&*1.2/12 37,214
SECES) 26,640
1.52 250,000 1812 3,000
2.62 185,000 %224+ 128 4,440
3.72 180,000& 52+ 123 10,800
4.895 175,000& x4 H 122 8,400
88,546 78,182 10,364
Hl 88,546 78,182 10,364
L2 S 40,466 39,102 1,364
ArR2Zte(H] 21,304 19,940 1,364
SIEE=1) 10,411
12N 2P| 300, 00021224 80% 2,880
2.FUS=ES 28]
26,0002 *152F A 390
3.0 2EHYIBSAEX
81,0002+ 115t A 891
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S M
M A2 | (A2H2E)
Chel: J1=2ZHI EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
4. H0IMERIE EH/EH
200,000 *4CH*43] 3,200
5.2AD| EW/LBHRKE
200,000& *1CH*23 400
A EY 200,000& *2CH*23 800
eIB)| ele/da
20,0003 *1CH* 123 240
8.0IRA =BIIHE ZX
750,000& *1CH*13 750
9.0 HolSYSSME
30,000& *12& 360
10. 88320088 A28 72 & >=&4|
25,0003 *43| 500
(Ux2) 2,517
1.81EED] 30,0003 «2CH* 123 720
2. 80| 30,0002 *3CH*12& 1,080
3.2 M| 59,700& x12& 717
(2g+4) 600
1. 9584 60,0002 * 110 600
(41 7,776
1.ol=esssa3 A
9,000 x6A1*12H + 12& 7,776
02 32| 19,162 19,162 0
(S32ZILHA) 13,200
1.SUSYSH 4,160
Jb. et 430210024+ 12& 516
Lt.S21 2,530& x 1204+ 12& 3,644
Aoz 500,000& 12 6,000
otz 80,0003 123 960
4 BAWERSD(BE TR
50,0003 23| 100
3T AT 120,000& 12| 120
NeZHA2T 200,000 *13] 200
HEXEEEE 1,500
b MY Xt 500,000& *1CH*13 500
L. XESE SN
1,000,000& *1CH*13 1,000
8. Xt XHAl 80,0003 *2CH*13] 160
(e12Hl) 1,728
1AL 4 1,350& %4 £ *4 A 2t+80L 1,728
(AN&E&HIs=& 7 XIH]) 2,074
AMAE 1,200,000& 1,200
2. JAEHI 100,000 & *2CH 200
=T 50,0002 *1CH 50
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SN M2
M HZYRAZHI(&2H2S)
s Jl=dhl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
4. =0IZOINAE SXE
33,0003 »2CH*43] 264
5. ASOIAAIAE SX|ES
30,0002 *1CH* 122 360
(Xt&Eetyl) 2,160
SEY RS 130,000& ~12& 1,560
2. 48X =l & KA
100, 000& »2CH*32] 600
202 04| 27,900 27,900
01 2L AL 3,600 3,600
13O 20,0003 » 10 x3H + 123 »50% 3,600
02 XN 24,300 24,300 0
124048l 225,000 x0E ~ 128 24,300
203 HR=H] 9.120 9.120
01 J|2=2geR=a] 5,940 5,940
10122828 6,600, 0002 *90% 5,940
02 3t RS &| 480 480 0
1L IRH RN 40,0002 12 480
04 PAE2EERFAH 2,700 2,700 0
V==t ]
250,000 x 122 x90% 2,700
204 ARt AH 1,800 1,800
01 AMGHR A A 1,800 1,800
1A YIETY| 1,800
s 150,000 x 12 * 122 1,800
405 AtatsE = 9,260 260 9,000
01 TR ESFSHI 9,260 260 9,000
1. e 3,000,000 %1k 3,000
2,481 900,000 *1H 900
3.22E §i 860,000 1K 860
4.0301= & 39=E Xt
150,000 *30H 4,500




Al A

Hm: 0l M HO| CQ(A3E)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AHA3S 951,706 819,485 132,221
=0 A Ho| E2(AA3S) 190, 146 133,348 56,798
YIS 29 190, 146 133,348 56,798
.8y N3 145,920 112,320 33,600
301 EetE NS 145,920 112,320 33,600
o7 s&-01&-¥Egse 145,920 112,320 33,600
.88+ ¥ 234l 145,920
rol=eE 400,000 x24E « 12 115,200
Lt.&f0iS 400, 0003 x24 23| 19,200
Ct.3lol a4y
20,0002 x24H*23| 122 11,520
FUNXMEEZ )Y 2 15,696 15,696
201 et 3| 15,696 15,696
01 At2t2l] 15,696 15,696
(2er=2Hl) 1,296
1LFTXIME 2|
120,000 * 122 +90% 1,29
(2e=¢) 14,400
1. RXIME 2 AL 14,400
L Ioteual(A)
25,0002 =8Al 2t 12 2,400
Lt.OtRmAl(B)
25,0002 +8Al 2t 122 2,400
Ct.RItWA(A)
25,000 *8Al 2t 128 2,400
2t 27tma! (8)
25,0003 *8AI2H+ 128 2,400
Oh2DDFPA(A)
25,0002 +8Al 2t 122 2,400
. D NE A (B)
25,000 *8Al 2t 12 2,400
A= X2 18,530 11,028 7,502
101 e124d| 7,406 7,280 126
M ORINZZ2NSE S 7,406 7,280 126
1.SEAL 34 2182Y 7,356
HolEs
80,240/8A1 2Hx 1B #5541 2+ 12 6,620
L. A2EE 6,620,000 *3.545% 235
ChH o) ReEE
235,000 %12.95% 31
ct.=2= 6,620,000 4. 5% 298
OHUEEE 6,620,0002 *1.75% 116
BE.ATHE S 6,620,000 *0.841% 56
2. A2 Z&| 50,0002 x1H*13] 50
201 Ler23 | 11,124 3,748 7,376
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SH: A3
B 0l WA HO| C2(AXIE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 11,124 3,748 7,376
120 R A4
300,000 * 122 3,600
2 HNEIIQHY 442
220,000 x 104 2=+ 123 2,640
. ATANEEHr=2
242,000 x 1 2% 123 2,904
4. 52| EE
165,000 x 104+ 123 1,980
FUHC A SEHEAS 10,000 10,000 0
201 fet=23y| 10,000 4,000 6,000
01 AtR2te|HI 10,000 4,000 6,000
1.0t F LSNP
10,000,000& * 14! 10,000
SADIBIAIE EHI(&A3S) 5,000 5,000 0
SADIEHAIE EH 5,000 5,000 0
A== ANE=E EHl 5,000 5,000 0
401 AlZHIZ 01| 5,000 5,000 0
01 A28l 5,000 5,000 0
1.4=2F AI2E |2
5,000,000 * 14 5,000
MY 2HAH|(AAH3S) 756,560 681,137 75,423
el 2| 658,897 596,740 62,157
el 2dd| 658,897 596,740 62,157
101 @124H| 658,897 596,740 62,157
01 &2 658,897 596,740 62,157
(=) 463,968
1LesSM0g) 88,925
h.sE 87,181,000& *1& 87,181
BapSE ) Fal:] 87,181,000 *2% 1,744
2.M2E (1Y) 375,043
ot.62(1853) 3,971,700 2E 122 95,321
Lt.72(10&3) 2,939, 1002 «4E 128 141,077
the=2(728) 2,363,500 «3E « 12 85,086
Cho=B&3) 1,925,200 x2&* 122 46,205
S SSEY Fals] 367,689,000 *2% 7,354
(H=¢) 37,974
1.832+¢ 375,043,000& 1/ 12& 31,254
2. 832 +git=s 6,720
J+.154014~2040] 2
80,0008 x2& x 122 1,920
Lt. 1001 &~15H012¢
60,0002 x1& * 122 720
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SN 23S
A HZYRAZHI(LAIS)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CH.50l4~1040] 2t
50,0002 x5~ 12 3,000
ct.5E 0l 30,0002 x3& =122 1,080
OHHEdS=H) 4,440
1.0t5=¢ 4,440
I BN, 40,0002 *32* 122 1,440
LE R XA 30,0002 x4« 122 1,440
Ct.E XA 70,0008 x 18 x 122 840
OF.JIEDIS 20,0002 x3& =122 720
(S=22+E) 16,200
1.E32sE 16,200
S22 80,0002 x11H*12& 10,560
Lt 2IEHRE
50,0002 28 122 1,200
Ch ARSI R
70,0002 x4« 123 3,360
ch ARSI R+EI=
30,0008 x3& * 122 1,080
(ZU28+E) 52,070
LAIRZRIZ22+E
11,6023 x34A 2t 11E 12 52,070
(HUI24 S) 57,665
1.3 NS4 140,000 « 12 =123 20,160
2. 3&E =0l 375,043,000&*1.2/12 37,505
(22 xHI) 26,580
1.52 250,0003x 12 +12& 3,000
2.68 185,000& 2~ 122 4,440
3.78 180,000 x4 x 12 8,640
4.895 175,000& x5~ 123 10,500
=3l 97,663 84,397 13,266
Jl=3H] 97,663 84,397 13,266
201 er23| 56,083 46,817 9,266
01 At2tltl 24,918 23,826 1,092
(2et=24l) 15,753
1. 2N2E+SH 300,000 112 +80f% 2,640
2.0HIZERAIRES
100,000 »12& 1,200
3.d0IMEH/EY™
200,000 *4H+82] 6,400
4. FUSES - Z=ELSENX
35,0003 158t A 525
5.0l ZESIMLSESFSA
91,0003 *102t A 910
CRUEPIE 20,000 * 1= 122 240
7.2157|23aE 150,000& *1H+23] 300
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B
B4R 2 02| (M HIE)
JlE2&l
SA - B ORI(B1) - HIRAY - BES A
8. HAE 150, 000& *2CH 63 1,800
9.5ALEX 25,0003 #60t A 1,500
10.HI0I=tvrtlzm 19,8002 122 238
(dx=) 1,437
1. 830|128 X 2 30,000& x2CH+12& 720
2. 3J M@ et =
59,7003 «1CH* 123 717
(2g9=4) 600
1.e=8aH 60,0003 * 1210 600
(248l) 7,128
1.J|128fs8#E224H|
9,000 x6Ax 11+ 12& 7,128
2 SE=29| 31,165 22,991
(S32ILHA) 27,205
.28z 5,225
Jb. Bt 4303 *13021+ 12 671
Lt. S| 2,530 15021+ 12& 4,554
2. 8012 1,500,000& =123 18,000
3.40E2 100,000& 12& 1,200
4 HEXE 2,780
I ASKHEE R
900,000& *2CH*13 1,800
Lt KbS XA 130,000 *2CH* 13 260
Ct. XtSXt==2l bl
100,000 *2CH*33] 600
et XS I A5
60,000%2CH*13] 120
(A2 &HIKXIH]) 3,960
1.23AH= 2,000,000& 2,000
2. 7534l 936
b A8 2Rt 70,0002 x1CH+12& 840
Lt &IIXt 8,000& 10+ 122 %
3. HE L ST 250,000 *1CH 250
4 A 100,000 *1CH 100
5.2==J|7Xl&2ld] 50,0002 *1CH 50
6. =IEIAIAEI S X 2 2=H|
33,0002 x2CH*43| 264
7. XNZAAA AR X 2 44|
30,000+ 128 360
202 0441 26,700 26,700
01 =WO4bI 2,400 2,400
1. =3I 20,0002 x 10 x2H = 122 x50% 2,400
02 ML 24,300 24,300
1.2 MY 225,0003 x9H 122 24,300
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H & 0l & AHS B Ml A

Hm: 0l ME HO| CQ(A4S)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NSNS 951,860 886,885 64,975
=0l A Ho| ER(A2A48) 163,798 141,598 22,200
YIS 29 163,798 141,598 22,200
.8y N3 127,680 98,280 29,400
301 EetE NS 127,680 98,280 29,400
o7 8% -0 - H¥Es243 127,680 98,280 29,400
1. S¥+=EL eS| 127,680
rol=eE 400,000 x21E«12& 100,800
Lt &0 2 400, 0002212423 16,800
Ch.319 & a4
20,0002 x212H*23|x 122 10,080
FOAXME 28 24 20,820 28,020 AT,200
201 et 3| 20,820 28,020 AT7,200
01 At2t2l] 20,820 28,020 AT7,200
(2er=2Hl) 1,620
1.2 AIME 28
150,000 * 122 x90% 1,620
(2e=¢) 19,200
1LFEXNX A ZA=E 19,200
b A0 LA 25,0002 x8Al 2t 12 2,400
L AHAZHE
25,0002 +8Al 2t 123 2,400
Chotwal 25,0002 +8Al 2t 122 2,400
ct. 2\ 25,0003 *BAl 2t 122 2,400
ORIt 25,0002 x8Al 2t 12 2,400
b Zetel 25,0002 8AI 2+ 122 2,400
Ab.Ze| Zlet|
25,0002 +8Al 2t 122 2,400
Oh.Ct=1al 25,0003 *BAl 2t 122 2,400
EA=X2t 5,298 5,298
201 2= 5,298 5,298
01 AtR2t2lt] 5,298 5,298
1.2 r==2
226,500 122 2,718
BN E U=
210,000& *1JH 2x#22] 420
.agEdEe| 2
180,000 »12& 2,160
FUFO A SO AL 10,000 10,000 0
405 AHAHE S 10,000 10,000
01 AL =S F=H 10,000 10,000
1.01S4) CCTV &XI 10,000,000 * 14| 10,000
SADIEIAIE HEI(&2A48) 5,000 5,000
SAIDIEHAIE EHI 5,000 5,000




SA A4S
HZH: TAIDIBHAlAE HH|(AHZH4S)

SRl ZADIEIAIE FHI (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A== ANES EHl 5,000 5,000

401 AIZHIZ SO 5,000 5,000
01 Al&HI 5,000 5,000
1.4525 Ald=S 7Al2c
5,000,000& 14 5,000
Y2 HGHI(L24S) 783,062 740,287 42,775
el 2| 702,455 660,544 41,911
el 24| 702,455 660,544 41,911
101 @124H| 702,455 660,544 41,911
01 &= 702,455 660,544 41,911
(=) 475,587
1.E8M018) 88,915
=% 87,171,000& 1 87,171
BaySE Fal:] 87,181,000 *2% 1,744
2. 2ZE (1Y) 386,672
ot.62(2623) 4,440,800 2H*12& 106,580
Lh.72(988) 2,839,500 x4H«12& 136,296
Ch.es(753) 2,363,500 4H 122 113,448
ct.o=2(258) 1,897, 100&x1E~12& 22,766
OF. X IH & 379,090, 000& *2% 7,582
(&0i==d) 44,870
1LURsFEE 4,607
b5l (623423)
4,660, 000& *4. 1%+ 12 2,293
Lh.72U<*(821053)
2,638, 7003 4. 1% 123 1,299
Ch.82Ut<* (9865 S)
2,061, 1002 4. 1%~ 123 1,015
2. 824 386,672,000 *1/12 32,223
3.2+t 8,040
Jh.25E01 4 130,000 x 1 * 12 1,560
L+.20E0[&~25E 01gt
110,000 x1&* 122 1,320
Ct. 10 01 &~15 012t
60,000 x2& * 122 1,440
ch.580l4~104 0] 2t
50,0002 x5 * 12 3,000
OF.5E01 2 30,0002 x2& =122 720
OHAEdS=H) 26,760
1.0t5=¢ 26,760
N BN, 40,0002 62+ 123 2,880
LE A MAHA 30,0002 x6& 123 2,160
B DNIE 70,0008 +x38 * 122 2,520
ek IIEDHS 20,0002 58 122 1,200
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SA AZYS
X ZXH: SHXA
o e o

HY 2 ZH|(AA4S)
cigl: olzt2aty|
S A - BRI - HRA - BES of e A
PENCEESE
1,500,000 x 12 * 122 18,000
(S+22+E) 17,760
1.S+22+8 17,760
h.s28=¢ 80,0002 x11&~12& 10,560
Lt 2IAAR
50,0002 x2& * 12 1,200
Ch AR SXER+E
70,0002 x5 * 122 4,200
ch AR SX RIS
30,000 x5& * 122 1,800
(Zu22+9) 52,070
LAIRMRIZRSE
11,6022 x34A| 2E+11E* 123 52,070
(24 8) 58,828
1. 3As4H| 140,000 x12& «12& 20,160
2. BE=FJtHI 386,672,0008+1.2/12 38,668
(H22x4l) 26,580
1.55 250,000« 1H* 122 3,000
2.6 185,000 x2& * 12 4,440
3.7 180,000 x4 * 122 8,640
4.8~958 175,000 x5 * 122 10,500
Jl=23H| 80,607 79,743
JI=23Hl 80,607 79,743
201 er=2 3| 40,287 39,423
01 AtR2te|HI 17,397 16,533
(Et==2Hl) 7,584
1. 2N 28+ 300,0003 x 12 80% 2,880
2. ZEHEY 105,250 *4LH*42] 1,684
3.ZctEeHEH
200,000 *1CH*4 01 =23 1,600
4 NPEZANSEIEH
75,0002 *1CH*23] 150
5. 01ARAESIEH
75,0003 *10H*22] 150
6.215JIel2 35,0002 *1CH* 13/ + 122 420
7.FUSES . Z2EsEN
26,0003 *102t A 260
8.OHSHENLSESTEN
80,0003 »48+ A 320
9.70gsrlz 10,000& ~ 123 120
(gxtz) 1,437
1.8 30,000 *2CH* 12 720
2. 31 Mzl 59,7003 1L =122 mnr
(2g9+¢) 600




SN MRS
M HZYRAZHI|(&24S)
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1.e=82g 60,0002 x 1 »10 600
(S40) 7,776
1ol=gesss0a
9,000 x6A1*x 128 * 12 7,776
2 S52g4l 22,890 22,890 0
(SS2SLAA) 18,166
1.98= 3,656
bt 4303 %1202+ 122 620
Lt. S 2,5303 %1002~ 128 3,036
2.8z 950,000 * 122 11,400
3.4l 200,000 +6E 1,200
4 33tx¥rrrm 250,000 12 250
5. &I IS KA
130,000 *1CH*12] 130
6. &8I INSEEZ
1,000,000 «1CH*13] 1,000
7. B R ASIHA
30,0003 *1CH*13] 30
8. IS EEE 500,000 *1CH*12] 500
(AIE&HIRXIH]) 4,724
1L.EAMH= 1,000,000 1,000
2. WYY SIH| 100,000 *2CH 200
3. 2AIEED] 100,000 *2CH 200
4 ZRIEQINAER
33,0003 *2CH*43] 264
5. XNIZAAIARR
30,000~ 1CH* 122 360
YRS ENMNE 60,0003 *1CH*13] 60
At &==clbl 100, 0002 *2LH 32| 600
AINERF
150,000 *1CH* 122 1,800
9. &8JIXtEE &I 20,000~ 1CH* 122 240
202 04l 29,400 29,400
01 =LHAHI 2,400 2,400
1.=LHObI 20,0003 %102 x2& * 123 +50% 2,400
02 A0 27,000 27,000 0
1.2 N0 225,000 x10&~ 128 27,000
203 SR =L 9,120 9,120
01 D22 HARFA| 5,940 5,940
1.0 228 PR 6,600,000 *90% 5,940
02 FRIHAA =AY 480 480 0
Mt R =AY 40,0008 * 12& 480
MU A2 LRFEI 2,700 2,700 0
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SA AZYS
X ZXH: SHXA
o e o

HY 2 ZH|(AA4S)
el JI=2 3
2 s IE]
SA - HY - S9I(3) - HIRAY - BES ofl & e
1L.ENEZERFAYI
250,000 * 122 *90% 2,700
204 e A 1,800 1,800
01 Mg R 3| 1,800 1,800
h.sE 150,000 x1&* 122 1,800




Al & 0Ol & AFSE Z Ml A
0258 20lat LEBIH L JIBSERIH 1dS ~ =23
SN =E1S
B 0l WA HO| £ (=)
el HESKEEH 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S8ls 843,405 791,493 51,912
=0l A Ho| ER(=818) 124,242 105,518 18,724
YIS 29 124,242 105,518 18,724
.8y N3 91,200 70,200 21,000
301 EetE NS 91,200 70,200 21,000
o7 8% -0 - H¥Es243 91,200 70,200 21,000
1. S¥+=EL eS| 91,200
rol=eE 400,000 x15E «12& 72,000
Lt.&f0iS 400, 0003 * 15 23] 12,000
Ch.2lo&o
20,0002 x 152 *23| 122 7,200
FOAXME 28 24 13,296 15,696 2,400
201 et 3| 13,296 15,696 2,400
01 At2t2l] 13,296 15,696 22,400
(2er=2Hl) 1,296
1LFUNXIME 23]
120,000 * 122 +90% 1,29
(2e=¢) 12,000
1LFEXXME ZA=E 12,000
It MOl el (St=8t)
25,0002 =8Al 2t 12 2,400
L Aol mal (828t
25,0002 +8Al 2t 122 2,400
Ch.&2lAWA 25,0002 +8Al 2t 128 2,400
et ot2LIDtna(E3)
25,0002 x8Al 2t 12 2,400
Ohot2Ltn A (53)
25,0002 <8Al 2t 123 2,400
ARl 2l 9,746 9,622 124
101 @12A4H| 7,406 7,282 124
04 JIZtN22 XS 2+ 7,406 7,282 124
(5 A 34 RY) 7,406
1.2+ 6.620
D R= 1t
80,2403 /BAI2H+ 15541 2+ 123 6,620
2 NENRY 282 736
LAHEE = 6,620,0002%0.841% 56
LlLOEEEE 6,620,000& *1.75% 116
Ct.=oHsSEEg
6,620,000 4. 5% 298
ch. oA EE=
6,620,000 *3.545% 235
OIS EE =
235,000 %12.95% 31
3.42H &I 50,0002 x1H*13] 50
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SN 2B
M R0 MY Ho TR(2E1S)
Chol: MESTME 2 (Hol: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 2,340 2,340
01 Al22t2lH] 2,300 2,300
1. 2oIAY| 2R s a2
170,002 122 2,040
2 BNEIINE S A42
150,000 22 300
FUFAHU A SEHOHEAS 10,000 10,000 0
401 AlEHIZL SO 10,000 5,000 5,000
01 Al&HI 10,000 5,000 5,000
1.0 SHSIIRNS SHEHA &R
10,000,000 10,000
SAPDIEAIE HEI(SE1S) 5,000 5,000 0
SAIDIEHAIE EHI 5,000 5,000 0
223 ANE= ZH| 5,000 5,000 0
401 A2 HIZL R 0HbI 5,000 5,000 0
01 Al&HI 5,000 5,000 0
1432 AL2 S
5,000,000 14 5,000
HH2AHHI(EE1S) 714,163 680,975 33,188
el 2E| 625,822 595,486 30,336
el E2d| 625,822 595,486 30,336
101 ©1AH| 625,822 595,486 30,336
01 2= 625,822 595,486 30,336
(22) 437,423
1.A28H(1) 88,925
s 87,181,000&x1H 87,181
BSSE ) Fal:] 87,181,000 2% 1,744
2. M2E(109) 348,498
o+.62(2028) 4,108,300 «2& 12 98,600
Lh72(928) 2,839,500 «3E « 12 102,222
Ch.s2(828) 2,459,900 ~4H 123 118,076
ct.9=(283) 1,897,100 x1&* 122 22,766
OF. M IH & 341,664,000 *2% 6,834
(&oi==¢) 38,652
1L.URsREE 3,370
Jt.6= 4,042, 10023 %4 1%+ 122 1,989
Lt.85 2,805,000 4. 1%~ 123 1,381
2.82+¢ 348,498,000& 1/12 29,042
Aa2sgkts 6,240
J+.205 01 &4~25H 01 2
10,0002 x1&x 122 1,320
Lt. 1001 &~15012¢
60,0002 x2& 122 1,440
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SN =E1S
M HZYRAZHI(SE1S)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CH.50l4~1040] 2t
50,0002 x4~ 12 2,400
ct.5E 0l 30,0002 x3& =122 1,080
OHHEdS=H) 7,320
1.0t5=¢ 7,320
I BN, 40,000 x5~ 122 2,400
LE.JIEDES 20,0002 x4 122 960
B\ DNIE 30,0008 x4 x 122 1,440
2t SMXH 70,0002 x32§* 1224 2,520
e ) 15,240
| Saxesg 16,240
o saesg 80,0002 1025 122 9,600
LR
50,0002 28 122 1,200
Ch ARSI R
70,0002 x4« 123 3,360
ch ARSI R+EI=
30,0008 x3& * 122 1,080
(ZU28+E) 47,337
LAIRZRIZ22+E
11,6022 x34A1 2Hx10E « 12 47,337
(24 8) 53,330
1.3 NS4 140,000« 11H =122 18,480
2. 3&E =0l 348,498,000& *1.2/12 34,850
(22 xHI) 26,520
1.52 250,0003x 12 +12& 3,000
2.68 185,000& 2~ 122 4,440
3.7= 180,000 x3&* 12 6,480
4.895 175,000& x62 123 12,600
=3l 88,341 85,489 2,852
Jl=3H] 88,341 85,489 2,852
201 er23| 51,241 47,909 3,332
01 At2tltl 19,470 19,278 192
EEES=Tp 9,94
1. 2N2E+SH 300,000 112 +80f% 2,640
2.0HIZERAIRES
100,000 »12& 1,200
CRUEDIE 20,0002 ~1CH+6E 120
4.0137|143 100,000 *43] 400
5. ZgHEY 150,000 *4CH*32] 1,800
6.ZelHEE 180,500 *62] 1,083
70BN LSEFEX
91,5003 62 A 549




SN =E1S
M HZYRAZH(SE1S)
Chel: J1=2ZHI EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
8 =USESZ=LIEN
35,0003 x202 A 700
9.2AMESIIEH 60,0002 *2CH*32] 360
10.=AMEX 20,0003 #5082 A 1,000
naoEes iz 7, 7003 * 122 B
(dxt=) 1,797
1.8 30,0008 «2CH* 122 720
2.3J1838J] 30,000 *1CH+ 122 360
SR=PIS Fa) 59,7002 *1CH* 122 mnr
(2geg) 600
(R=E RS 60,0002 12102 600
(S4141) 7,128
IPEE RS e E N
9,000 641 *x 11+ 122 7,128
2 S5=24g4l 31,771 28,631 3,140
(SSQS3LAA) 23,639
1.2823 3,449
Jr.egt 4302 +8021x 122 413
Lt. S 2,5303 %1004~ 128 3,036
2.8J122 8,460
b HESKEH 430,000& 123 5,160
L. gAd 275,000 x 122 3,300
3EANIARS 200,000 * 122 2,400
4.4(06H==E23 300,000 * 122 3,600
53328 ARS 200,000& %12 200
6. FRNXMEMSAILS A HUE S
= 300,000 12 300
7.0=8EH +=sSAE =ERs
300,000& x 1042+ 123 3,600
8. AEXENHSHA 130
D RSP 30,0003 *1CH+13] 30
L RXSESAXE
100,000 *1CH* 1=l 100
9. 24ESXEEEE 1,500
D RSP 500,000 *1CH*12] 500
Lt 2SS A
1,000,000& *1CH*12] 1,000
(e=Hl) 4,740
LAIREAZY
1,350 %5 ¢ *5A|2++80L 2,700
2. A4EXEFFH 2,040
J.aE e 130,000 x1CH* 12 1,560
L. RSsESAXE
40,0002 1CH* 12 480
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SN =E1S
M HZYRAZH(SE1S)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
(A EZBISXIH]) 3,392
1LEAAE 2,000,000& 2,000
REEEIS] 100,00024+3CH 300
3. 20ISOIAI AT 4|
33,0002 *42] 132
4. XSO ARIS T HAt)
30,0003 x12& 360
5. &y xte&k==2lbl 100,000 *2LH 3= 600
202 04| 26,220 26,700 A480
01 2LHA b 1,920 2,400 A480
1.=LH0dHI 20,0003 x8L x2H + 123 »50% 1,920
02 XN 24,300 24,300 0
124048l 225,000 ~9F 122 24,300
203 HR=AH] 9,080 9,080
01 D[22 HRFa| 5,940 5,940
1012288254 6,600, 0002 *90% 5,940
02 3t RS &| 440 440 0
1L IRH RN 40,0002+ 11 440
MU FA2ELRFAI 2,700 2,700 0
1L.2A28E R
250,000 x 122 x90% 2,700
204 ARt AH| 1,800 1,800
01 MG AR A HH| 1,800 1,800
1LAMSHR=AYI 1,800
s 150,000 x1&* 122 1,800




g 8 A A

SN =S
B ZOIMEHEOCR(2HE)
el HESKEEH 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S§2s 1,305,758 1,165,302 140,456
FUHF O P (SE28) 303,684 241,990 61,694
YIS 29 303,684 241,990 61,694
I=RESPNRE 231,040 177,840 53,200
301 EetE NS 231,040 177,840 53,200
o7 8% -0 - H¥Es243 231,040 177,840 53,200
.88+ ¥ 234l 231,040
rol=eE 400,000 x38E « 12 182,400
L. &0z 400,000 x38H *23] 30,400
Ct.3lol a4y
20,0002 382 *23| 12 18,240
FUNXMEEZ )Y 2 31,080 28,020 3,060
201 et 3| 30,420 28,020 2,400
01 At2t2l] 30,420 28,020 2,400
(2er=2Hl) 1,620
1LFTXIME 2|
150,000 * 122 x90% 1,620
(2e=¢) 28,800
1.=2AXME SAtE 28,800
I COIHEHA(ES)
25,0002 =8Al 2t 12 2,400
Lt CHOIHEHA(EE)
25,0002 +8Al 2t 122 2,400
CHOOIHEHA(DS)
25,000 *8Al 2t 128 2,400
(S ) e amE=| 25,0002 x8Al 2t 12 2,400
OFJISHIZ 25,0002 *8Al 2t 12 2,400
Bh.et=0{wal
25,0002 +8Al 2t 12 2,400
A DERE(ZS)
25,0002 +BAI 21+ 122 2,400
OLDELE(E2)
25,000+8A12tx 123 2,400
A2l Zletl]
25,0002 +8Al 2t 122 2,400
AooEE 25,0003 <24 A1 2t 12 7,200
405 KHaHE SH 660 660
01 AL =S F=HI 660 660
1.Jteual Lo 2
660,000 *1CH 660
ARl 2tel 16,064 13,030 3,034
101 @124H| 13,604 10,570 3,034
MU IIRINZZE2NSES 13,604 10,570 3,034
(SEAH 4 2Y 13,654




SN =82S
B ZOIMEHEOCR(2HE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1.30d
80,2402 /8AI2H+1ZH+80AI 2+ 1200 & 9,629
2 NENRY 282 3,925
222 = 12,198,000 *3.545% 433
L =D QAES
433,0002 *12.95% 57
Ct.=21A= 12,198,000& *4. 5% 549
ct.IE2E 12,198,0002 *1.75% 214
O ATHES 12,198,000 %0.84 1% 103
Hh = Eag
80,2403 /8AIZH* 1B #4A| 2hx52 2,087
Ab SR =&
80,2403 /8AI2H+ 1 #4A| 2hx 12 482
3. AHZ &I 50,0002 x1H*13] 50
201 2= 2,460 2,460
01 At22t2l] 2,460 2,460
1.2 dr2 185,000« 12& 2,220
2BNFIINO 442
120,000 * 17 2+23] 240
FUHCU A SHEHEAS 10,000 10,000 0
201 er23| 4,900 0 4,900
01 AtR2t2|HI 4,900 0 4,900
1.8cl=Egu=s 24 4,900
(et=2Hl) 580
ot Zel=d2E3 N3
580,000 580
(2d=¢) 4,320
EAE 120,000& * 122/ +34! 4,320
401 AIEHIZ SR OHYI 5,100 10,000 24,900
01 Al&HI 5,100 10,000 24,900
1L.&20] S8SIIYX 0ISACCIVER
5,100,000 * 14 5,100
OFlatEa F Al 2e] 12,000 9,600 2,400
201 Ler23| 12,000 9,600 2,400
01 At2teltl 7,200 4,800 2,400
1. 2234 600,000 * 12 7,200
02 S3=gHl 4,800 4,800 0
.81 300,000& * 128 3,600
2.4ot=g 100,000 »12& 1,200
LS UFTA BRELS 3,500 3,500 0
201 er23 | 1,900 1,900
01 At2teltl 1,900 1,900
TLHARJXIHIZ 1,600,000& 1,600
2.8 5 4238 7Y 300,000 300
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SN =82S
B ZOIMEHEOCR(2HE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 1,600 1,600 0
11 dALEEIXIZE S 1,600 1,600 0
.sELES)| A 1,600,000& 1,600
SADIBAE EBI(5828) 5,000 5,000 0
SAIDIBEAIZ EHI 5,000 5,000 0
2SS SAIESEH 5,000 5,000 0
401 AIEHIZ R 0HYI 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1.4E25 Al2E sA2e
5,000,000 * 14 5,000
HY2AHHI(S825) 997,074 918,312 78,762
el 2E | 8%4,212 814,875 79,337
el E2g| 8%4,212 814,875 79,337
101 e124d| 8%4,212 814,875 79,337
01 2= 894,212 814,875 79,337
(22) 572,489
1.e28H(19) 88,925
s 87,181,000& 1 87,181
L. X0 87,181,000 «2% 1,744
2. M2E(15Y) 483,564
ot.62(2028) 4,108,300 «2& 12 98,600
Lh72(928) 2,839,500 6 123 170,370
Ct.82(653) 2,263,400 «5H 123 135,804
ct.9=(883) 1,925,200 x3&* 12 69,308
OF. M IH & 474,082,000 *2% 9,482
(&t0i==d) 55,361
.82+ 483,564,000 *1/12 40,297
2.32EoHts 8,760
Jh.2040[&~25 0] 2
110,000 x1&* 122 1,320
L+ 10H0[&~15E 012
60,0002 x2& x 12 1,440
Ct.5E01&~10 012t
50,0008 +7& * 122 4,200
ct.5E0let 30,0002 +5& 122 1,800
JURsREE 6,304
b5 U=
4,042,100 4. 1%+ 128 +2d 3,978
Lh.72 U<
2,363,500 4. 1%+ 12 »2H 2,326
OHHEd=S) 61,680
1&g 7,680
N BN, 40,0002 ~62+ 122 2,880
Lt R XA 30,0002 x5 * 122 1,800
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SN =E2S
M HYRAZHI(SE2S)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ct. S MAH 70,0002 %3 * 122 2,520
ch.IIEDFS 20,0002 x2& 123 480
2.=20I58 ¢ 1,500,000 «3E « 122 54,000
(S+=28+E) 23,400
1L.Ex82E 23,400
ohs2erg 80,0002 152+ 128 14,400
Lh.olpgieag
50,0008 38 * 122 1,800
CtALRISXS R
70,0003 6 * 122 5,040
ch ARSI R=EIr=
30,0002 6~ 12 2,160
(ZU222E) 71,005
1A 2R
11,6023 *x34A1 2tx15F « 12 71,005
(AHI24 8) 75,237
1. 3AS A 140,000 x 16 * 122 26,880
2. 325l 483,564,000&%1.2/12 48,357
(HZE=HI) 35,040
1.58 250,000& x1E 128 3,000
2.6 185,000 <2 *12& 4,440
3.7 180,000 x5« 122 10,800
4.895 175,0002x8& * 12 16,800
J1I=23Hl 102,862 103,437 Ab75
JI23Hl 102,862 103,437 Ab75
201 2= 52,207 51,667 540
01 AtR2t2lt] 23,361 22,821 540
(er=&Hl) 13,041
1. 2N 288 300,000& x 15 «80% 3,600
2.0HIZHRAIRES
100,000& * 122 1,200
3.0 EBIEEN 150,000& * 102 1,500
4.0l ZelHEE 216,600 %52 1,083
5. 3JIMZI| HE= 59,700& * 122 77
6.0 2SN LSE+EX
80,0003 *152f A 1,200
7.FUSESE2ELN
26,0003 *302f A 780
8.21&J|el=22l 20,0003 44 +6E 480
9.0157|1821/22 96,0002 #32] 288
10.2AMESIIEH
80,0002 x2CH* 12t Ax43] 640
1.2 AEX 20,0003 »408} A 800
2.8=J] axtg 30,000~ 1CH* 122 360
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SN =E2S
T WP (SHS)
29l Jl=3l (crel ®2l)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
BAUSSAUHAES AZEFY ¥ 44|
75,0002 *43] 300
14 ACIEVAE 7, 7003 x 122 3
(2d=¢) 600
1L.e=8+d 60,0002 x1& 10 600
(S4i81) 9,720
1J128fs8S2sA
9,0003x641 %15« 122 9,720
02 S3=gHl 28,846 28,846 0
(SS2SLHA) 22,474
1.28= 7,104
bt 4303 %2002 x 122 1,032
Lt. S 2,5302x20024 123 6,072
FaPIi= 1,000,000& «12& 12,000
doteEz 100,000« 12& 1,200
4 BFNERGS(HENE )
70,0002 1CH*23] 140
IS EE= 750,000 *2CH*13] 1,500
I ENE 75,0002 x2CH*13] 150
XS XS KA
130,000 »2CH* 13l 260
8.3t xHAeEE 120,000 %13 120
(A=2Hl) 3,15
AR AR FY
950 *4 £ +6A| 2H+70L 1,59%
2. ¥ 7= 130,000& «12& 1,560
(A EZHISXIH]) 3,216
1LEMNA= 1,500,000& 1,500
EXE el 100, 0002 »2CH*32] 600
3. ZQOIA AKX 2 =]
33,0003 *3CH*43] 3%
4. KN2UAAABR X 24=H]
30,0003 * 122 360
5. UASHNEYEZ IS AIE+H|
180,000 » 1CH*23] 360
202 04| 36,720 38,160 1,440
01 =LHOLI 4,320 5,760 21,440
1.=3LHOIbI 20,0003 * 10 x3H « 122 6% 4,320
02 XN 32,400 32,400 0
12408l 225,0002 x 128« 123 32,400
203 HR=AH] 10,410 10,450 avio)
01 J 22 LR FA| 7,110 7,110 0
1012288 FF4| 7,900,000 *90% 7,110
02 32 JRHH 2= 600 640 A0
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Al A

| &€ 2 &
0258 20lat LEBIH L JIBSERIH 1dS ~ =23
SN S
Ha: 0l HE HO| CR(HHE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Has 1,229,627 1,181,419 48,208
=0l A Ho| E2(HEs) 242,218 194,8%4 47,324
YIS 29 242,218 194,894 47,324
.8y N 194,560 149,760 44,800
301 EetE NS 194,560 149,760 44,800
o7 8% -0 - H¥Es243 194,560 149,760 44,800
.88+ ¥ 234l 194,560
rol=eE 400,000 x32E « 12 153,600
L. &0z 400, 0002 *32H <23 25,600
Ch.2lo&o
20,0002 x32EH*23| 12 15,360
FOAXME 28 24 28,020 25,620 2,400
201 et 3| 28,020 25,620 2,400
01 At2t2l] 28,020 25,620 2,400
(2er=2Hl) 1,620
1.2 AIME 28
150,000 * 122 x90% 1,620
(2e=¢) 26,400
1.=2AXME SAtE 26,400
Ot el A (18t
25,0002 =8Al 2t 12 2,400
Lt.etelei A (28t)
25,0002 +8Al 2t 122 2,400
ChHOEse =04
25,000 *8Al 2t 128 2,400
et 2Itm Al (18
25,0003 *8AI2H+ 128 2,400
OF. @It Al (28t)
25,0002 +8Al 2t 122 2,400
bh.St2LIDtn & (=3)
25,000 *8Al 2t 12 2,400
AL SI2LIDIRA(SE)
25,0002 =8Al 2t 12 2,400
Oh.3I2LI2twa(103)
25,0002 +8Al 2t 122 2,400
A=8018 25,0003 *BAlI 2t 123 2,400
A.et2nd 25,000 x8Al 2t 12 2,400
IhAUAHAZHE
25,0003 x8AI2H+ 123 2,400
AR 2tel 9,638 9,514 124
101 @124H| 7,406 7,282 124
04 JIZtNZ22 NS+ 7,406 7,282 124
(SEAL A 212¢) 7,406
1.80
80,2403 /8AI2H+ 1 #55A1 2H 1200 & 6.620
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2AM: HEs
B 0l #E Ho| ER(HHE)
crel: #M=TME 29
SA - B ORI(B1) - HIRAY - BES A
2ATHEEZ 6,620,000& *0.841% 56
3.125E= 6,620,000 *1.75% 116
4. Z0NHAZEEZ 6,620,000 *4. 5% 298
5.300H2EE s 6,620,000 *3.545% 235
6. LB QAYTEZ
235,000& *12.95% 31
7. A2 ZXH(HIAIRE]) LprAZLAT|
50,000 *13| 50
201 2| 2,232 2,232
01 A=R2teld| 2,232 2,232
1. 2oIAY R B2
161,000& *12& 1,932
2. BAED M2
150,000 * 11 2 *23| 300
FUEHMA SEHE At 10,000 10,000
401 A& B2 20HY| 10,000 10,000
01 Al&HI 10,000 10,000
1.008=s 24U Eots WAl & 4X
10,000,000 * 14! 10,000
SADIBAIE HUI(UES) 5,000 5,000 0
SAIDIBHAIE EH| 5,000 5,000 0
L2325 AMAE2 Fl 5,000 5,000 0
401 A& B2 20HY| 5,000 5,000 0
01 Al&HI 5,000 5,000 0
1.422 M= 72
5,000,000 * 14| 5,000
HE2IHHI(USES) 982,409 981,525
el 2A| 882,543 882,261
oI 2| 882,543 882,261
101 2124 d| 882,543 882,261
01 2= 882,543 882,261
(82) 610,800
1.ESH0Y) 88,925
h.sE 87,181,000& 1 87,181
Lt. MM 87,181,000 *2% 1,744
2.2g4(159) 521,875
h6=(2253) 4,231,002 +3E 122 152,349
Lt.72(958) 2,839,500 x6F 122 204,444
Ct.8=2(658) 2,263,400 x4 B+ 128 108,644
2t.9=2(3&8) 1,925,200 x2Y 122 46,205
B[S E Fals] 511,642,000 *2% 10,233
(A=) 53,450
1.822Y 521,875,000&*1/12 43,490




QA S
M HYRIZHI(UES)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2. 32 +git=s 9,960
Jh.25800 2 130,0002x1&+12& 1,560
L. 15301 &~20E 012t
80,0002 x2& 122 1,920
Ct.10=0[&~154 012
60,0002 2% 122 1,440
2451101 A~10:40] 8
50,0002 x6& 122 3,600
Ot.5&012 30,0008 x4 x 122 1,440
OHH2d+g) 8,760
1.I1E+E 8,760
. B AL 40,0002 x7&* 122 3,360
L RS 30,0008 x4 x 122 1,440
Ct.EMXHA 70,000 x3& * 128 2,520
ch.IIEDES 20,0002 6 122 1,440
(S+22+2) 24,240
[ 24,240
.s=22=+¢ 80,0002 x 15122 14,400
L. oIl et
50,0002 32 12 1,800
Ch A =X g 4g
70,0002 7 x 122 5,880
ch Al SXSR+EIR=
30,0002 6%+ 128 2, 160
(zD22+9) 71,005
1 AIRII 204
11,6023 *34A12H+ 158« 123 71,006
(AHIZE4 S) 79,068
1.3 NS4 140,000 x16E 122 26,880
2. BEFII 521,875,000 +1.2/12 52,188
(ZZ22xHI) 35,220
1.52 250,0002 x 1+ 128 3,000
2.68 185,000 x3&* 12 6,660
3.7= 180,000& 62~ 123 12,960
4.895 175,000&x62 123 12,600
Jl=3H| 99,866 99,264 602
JI=23H] 99,866 99,264 602
201 er23| 48,106 46,954 1,182
01 At2teltl 23,212 22,060 1,152
(2ergH)) 11,524
1L.2N2E S 300, 0002 * 162 *80f% 3,840
2.0lHIZERAIRES
100,000& «12& 1,200
3.0IMEH/EY™
168, 300& #5CH*23] 1,683
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2AM: HEs
T BHSSAY|(HES)
Chel: J1=2ZHI EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
EEEDZI=IE
200,000& *1CH*23 400
WAE 88,0003 *2CH*43| 704
zoSES 223X
26,0002 x202 A 520
7 ULSHANLSESEN
80,0002 » 158 A 1,200
CIESIEE 20,0002+ 1CH* 122 240
9.01Z0/2 (5, Hu)
25,0002 x2J4*23| 100
10.SAIS X 20,0003 #2558 A 500
N.eagsdz 10,000& * 12& 120
2. MESAHHAIE S+ KRAE=HI
25,0002 128 300
13.3JIHa0| digz 59,700& x12& 77
(2xt2) 720
1.8 Xtz 30,000& =12 +2CH 720
(2g9=¢) 600
1. 95842 60,0002 =110 600
(A1) 10,368
1012 EaTAY|
9,000 x6A x 16 12& 10,368
02 S=294| 24,8%4 24,894 0
(3322 2 HA 19,760
1.28= 6,710
Jb. et 4303 *30021 12 1,548
L. SDI 2,530& 17024+ 12& 5,162
IR 830,000& =123 9,960
ASl-TAIEE 80,0003 *12& 960
4. BANEHRES(HEXNSHZ)
50,0003 *22| 100
5B E= 1,630
ot At 500,000& *1CH*13 500
Lt.OIEXt 130,000 *1CH* 13 130
Ct. =g =Xt
1,000,000& *1CH*13 1,000
7. XS XA 160
ot At 30,0003 *1CH*13l 0
L. XEE=SXXE
130,000& *1CH*13] 130
8. A& HAI=Z
120,000& *2CH* 13l 240
(AIE&HI=XIH]) 5134
1.83AA= 1,500,000& 1,500
2.2AHE S| 180,000 & *2CH 360
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A UESs
MY #™2AH|(HEE)
s Jl=dhl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
pels) 45,000 «2CH 0
4. ZRISQIAIAR S X B 4=H]
33,0003 *2CH*42] 264
5. XIZ2AA ARSI 2a=HI(2EH)
30,0003~ 1CH =122 360
6. AtEH =Y 1,560
ot ddAE 7Rl
130,000 x1CH* 12 1,560
Aeka=cltl 100,000 »2CH*32] 600
8. A EA & ot QUASAHHIE
200,000 * 13| 200 2 400
202 04l 40,140 40,140
01 2LHoIH 5,040 5,040
1.=U 08I 20,0002 x 102 3B 122 x70% 5,040
02 A0 35,100 35,100 0
1. 2NN 225,000« 13« 122 35,100
203 =4l 9,820 9,820
01 1228 RFa| 5,940 5,940
1.0 228 YR8 6,600,000 *90% 5,940
02 FRIHAHA =] 640 640 0
13N R A 40,0008 162 640
M A2 LRFEI 3,240 3,240 0
1L.2A28E R4
300,000 * 122 *90f% 3,240
204 MR AH| 1,800 1,800
01 MM SR+ 1,800 1,800
[k == Eaaraial 1,800
h.s& 150,000& x 1= 123 1,800
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2N 2SS
B 0l HE HO CR(ATE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
3.&erAdHA 50,0002 x1H 13 50
201 er23| 5,530 6,730 21,200
01 At22te|Hl 5,530 6,730 1,200
.20 g2 M ===
150,000 122 1,800
2. 3Dt
150,000« 12& 1,800
.l IrAdc|tidsg
150,000& * 12 1,800
4.820] FIIEA =82
130,000& %12 130
FUFAHU A SEHOHEAS 10,000 10,000 0
401 AIEHIZ SR HYI 10,000 6,000 4,000
01 Al&HI 10,000 6,000 4,000
1.20HH £X 5,000,000 x24! 10,000
SADIEAIE HEI(BES) 5,000 5,000 0
SAIDIEIAIE EHI 5,000 5,000 0
A== ANE=E FHl 5,000 5,000 0
401 Al HIZ S OHbI 5,000 5,000 0
01 AlZ2H| 5,000 5,000 0
1.4=25 AldE |2
5,000,000 * 14 5,000
HY2HIH(FLS) 711,891 680,244 31,647
eIE =g 621,222 590,767 30,455
el =gl 621,222 590,767 30,455
101 @1A4H| 621,222 590,767 30,455
01 2= 621,222 590,767 30,455
(22) 434,894
1L.esSM0g) 88,925
h.s& 87,181,000&*1& 87,181
BpSE ) Fal:] 87,181,000& 2% 1,744
2. M2E(109) 345,969
oh.6=(2088) 4,108,300 =2F 122 98,600
Lh72(958) 2,839,500 x4&E 12 136,296
che2(728) 2,363,500 «2E « 12 56,724
ct.o=(4ss) 1,961,600 x2&* 12 47,079
O X0 363,458,000 2% 7,270
(& =¢) 39,954
LUesRE=< 4,043
tssiR(62053)
4,108,300& 4. 128« 123 4,043
2.832+¢ 345,969,000& 1/12 28,831
3.32==Eott= 7,080




SN ASS
M #EeHA|(ATES)
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OF. 20 0] A1~25¢ 0] 8¢
110,000 2+ 12& 2,640
Lt. 100l &k~15E 0] B
60,0002 12§+ 128 720
Ch.5E101 &~108 018
50,0002 x5F *12& 3,000
ct.530|2t 30,0003 «2Y*12& 720
(OHHE &) 7,080
1. 9154 7,080
Db B Xt 40,0003 *5H *12& 2,400
Lt JIERDS 20,0002 x8F +12& 1,920
Ct. =M AHA 30,0003+ 12& 1,080
ct.EM A 70,0003 =2« 12& 1,680
(E4224g) 14,400
1 ExmoLy 14,400
hs2e4g 70,0002 102 122 8,400
FREEEEN
50,0002 422 122 1,200
CH MBI = IR 4
70,0003 x4H 123 3,360
ch AL S XL R=Eoteta
30,0002 +42* 102 1,440
(zp224e) 47,337
REEEES
11,6023 *34A1 210« 12 47,337
(AHIE4 S) 53,077
1. Z3HZAH| 140,000 *11E+12& 18,480
2. BE SOt 345,969,000 *1.2/12 34,597
(AS2ZHI) 24,480
1.52 250,000 x 18 = 12& 3,000
2.6= 185,000& 2H x 122 4,440
3.72 180,000& x4 H 123 8,640
4.892 175,000 x4 H 123 8,400
234l 90,669 89,477 1,192
J|=2Z| 90,669 89,477 1,192
201 B2 AY| 53,089 51,897 1,192
01 At 2elt] 17,771 16,979 792
(2et=EHI) 7,886
1. 2A2Z 2| 300,000 *11H +80% 2,640
2.0BIZ S RAIRES
100,000& «12& 1,200
3.4I0IMEEIED EH/E™
141,000& #4CH*33] 1,692
4. 2AMESI| El
150,000 = 1CH*32| 450
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2N 2SS
M #ZYRAZH|(FHS
el JI=2 3 (Cte: M
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
3. S#EX =2l
00,0002 x2CH33] 600
4. ®AEY SNz
100,000 *5CH*12] 500
5.2 2OIA| AKX 2 =]
33,0003 =2CH*43] 264
6. A2 AAIABS X 2 ==H]
30,0002 *1CH =12 360
202 04dl 26,700 26,700
01 2L AL 2,400 2,400
.=l 20,0003 10 x2H + 12 +50% 2,400
02 XN 24,300 24,300 0
(=Rl 225,000 x9F ~ 128 24,300
203 HR=&H] 9,080 9,080
01 J|2=2gedR=a] 5,940 5,940
10122824 6,600, 000& 90 5,940
02 H3AtaHH R F&| 440 440 0
[IESEaP) Faiges bt 40,0008 11 440
MU FA2S LRSI 2,700 2,700 0
1.2A2EHRFALI
250,0003 x 122 x90% 2,700
204 Xt AH 1,800 1,800
01 MG HI A A 1,800 1,800
1LAMIHRFAY 1,800
s 150,000 x 12 * 122 1,800
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Al A

Al 2 &
0258 20lat LEBIH L JIBSERIH 1dS ~ =23
SN PHEOS
M =0 WH HO| TR(REHEZ0FS)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEHEOFS 1,767,497 1,562,631 214,866
=0 8N Ho| S (REHE0HS) 390,726 311,002 79,724
YIS 29 390,726 311,002 79,724
SHEAZE 340,480 262,080 78,400
301 EetE NS 340,480 262,080 78,400
o7 8% -0 - H¥Es243 340,480 262,080 78,400
1.88+g 4 54 340,480
rol=eE 400,000 x56E « 12 268,800
Lt.&f0iS 400,000 x56H *23] 44,800
Ch.2le=E 20,0002 x56E »22| « 12 26,880
FONXMEtEZ2 )42 S 23,220 20,820 2,400
201 fer= 3| 23,220 20,820 2,400
01 At 2t 23,220 20,820 2,400
(er=2Hl) 1,620
1LFSXIRIME 2
150,000& x 122 «90% 1,620
(2d=d) 21,600
1R A= 21,600
b er2 A 25,0003 *BAl 2t 122 2,400
B ) = amE=| 25,0002 x8Al 2t 12 2,400
CHAZ=MA
25,0002 +8Al 2t 123 2,400
ch.RItua 25,0003 *BAlI 2t 123 2,400
Ot &=0lnal(=3)
25, 00024 +BAI 2+ 122 2,400
b8 201 A (53)
25,0002 +8Al 2t 123 2,400
Ab.2Jte|Ltn Al
25,0002 +8Al 2t 128 2,400
Ot 3=ud 25,0003 *BAl 2t 122 2,400
A SH2Lt DA
25,0003 *8AI2H+ 123 2,400
AR X2l 18,026 17,902 124
101 @124H| 7,406 7,282 124
MU IIRINZZENSES 7,406 7,282 124
1L.SEAMN 34 22y 7,406
dolEs
80,240/8A1 2tx 1B #5641 2H+ 12 6,620
LI ATHE S 6,620,000 *0.841% 56
1828 6,620,0003 *1.75% 116
ct.=lldsSE8= 6,620,0002 *4. 5% 298
Ot =21AAES =
6,620,000 *3.545% 235
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FA: PEHX0FS
Ho: Z0l $E BO| ED(DEHEOLS)
el AHISAHE 29 (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
BB QRYEE=
235,000 *12.95% 31
Ab.EEHAZHA 50,0002 *12] 50
201 et 3| 10,620 10,620
01 Al 22| 10,620 10,620
IELE LN
220,000 x304 2=+ 123 7,920
2 EAFEIIHE sS4
120,000 #3704 2 +23] 720
.agEdA =
165,000& 101 A+ 128 1,980
FUFAHU A SEHOHEAS 9,000 10,200 1,200
401 AIEHIZ SR HYI 9,000 10,200 1,200
01 Al&HI 9,000 10,200 1,200
18X & Os9 &X
9,000,000 *1CH 9,000
SADIBAIE HHI(REHE0ES) 5,000 5,000 0
SADIBHAIE EH] 5,000 5,000 0
223 AE= ZH| 5,000 5,000 0
401 AIEHIZL SR 0HYI 5,000 5,000 0
01 AlZ8| 5,000 5,000 0
1.4E25 AEE sA2e
5,000,000 * 14 5,000
HY 2L ZHI(REE0FS) 1,371,771 1,236,629 135,142
eIg =g 1,225,728 1,096,333 129,3%
el 2d| 1,225,728 1,096,333 129,39%
101 21A4H| 1,225,728 1,096,333 129,39%
01 2= 1,225,728 1,096,333 129,39%
(22) 793,138
1L.esM0g) 88,925
s 87,181,000 x1H 87,181
BSSE ) Fal:] 87,181,000& 2% 1,744
2.XM8E(219) 704,213
oh.6=(2383) 4,288,100 ~3F 122 164,372
L7295 8) 2,839,500 x7 &~ 12 238,518
che2(728) 2,363,500 8H 123 226,896
ct.o=(4ss) 1,961,600 x3&* 122 70,618
O X 20 & 690,404,000 *2% 13,809
(at0i=d) 77,422
1L.URsREE 6,137
b5t (621958)
4,042, 1003 184 1% 123 1,989
Lt.e2tHR(7211E3)
3,033, 1002 x2E 4. 1%+ 123 2,985
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2N REIX0tS
M. HYSAGHI(RENZ0FS)
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
CH730R(82752)
2,363,500 1H +4, 1%+ 12& 1,163
2. 824 704,213,000&*1/12 58,685
3. 232EoHzg 12,600
Jb. 208 0| &~25 0] 2t
10,0002+ 12 122 1,320
Lt. 1560| a4~20e 0 2t
80,0003 x2Y 123 1,920
Ct. 100l &k~15= 0] BF
60,0003 x4F 123 2,880
245401 &~10:0/2
50,0003 «6H 123 3,600
Ot.5= 0/ 2t 30,0002 =8+ 12& 2,880
OHHEES) 65,640
1.1 E5==Y 11,640
Jb B Xt 40,0003 x9H x12& 4,320
Lt.JIEDIE 20,0002 <9« 12& 2,160
BERY ! PXIE] 30,0002 x6H *12& 2,160
ct.EMAH 70,0003 «2F =123 1,680
Of. AR RHA 110,000& 19+ 12& 1,320
2.80t58 Y 1,500,000 312 54,000
(E+222Y) 34,800
1. €22 34,800
t.s28=Y 80,0003 =218 = 12& 20,160
TR
50,0003 *7H* 123 4,200
CHAISIEXI YRS
70,0002 =9« 12& 7,560
ch AR S XL R=EoHea
30,0003 «8F 123 2,880
(X224 99,406
1.AI2t2 2R
11,6023 *34A1 2218« 12& 99,406
(AHI24 8) 107,382
1. Z3AZAH| 140,0002 x22F =123 36,960
2. 9ESOt| 704,213,000&%1.2/12 70,422
(M2 =xHI) 47,940
1.5 250,000&x 1+ 123 3,000
2.62 185,000 *3F 122 6,660
3.7= 180,000 x8H*12& 17,280
4.89= 175,000 x10H 123 21,000
f=pls]l 146,043 140,29 5,747
J|1E23&| 146,043 140,296 5,747
201 B2 AY| 84,013 76,281 7,732
01 At22teld| 38,002 36,490 1,512
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FA: PEIE

M HAHPALH|(REHE0FS)
chel: Jl2ZHl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
(er2%l) 20,439
1. 2N 28+ 300,000 «212 x80% 5,040
2.0HIZHRAIRES
100,000 «12& 1,200
3 HEEH/CE(AFRALE)
182, 10023 100 =42l 7,284
4.0130|el= 20,0002 %3312 720
FUSEST2SA
26,0003 202t A 520
6.012EHALSEN|
86,5003 202 A 1,730
7.SAEX 22,0003 1202t A 2,640
8.ZAIMSIIEH 150,000 52 750
9.SADIEU(Z0k22)
150,0002 %12 150
0. 7Stz 7,700 *122] 3
H.RMsENE(24)
13,0003 »20H A+ 122 312
(dx=) 3,35
1.8l 30,000 +6LH* 122 2,160
2. 3J1837] 19,9002 <20« 12 478
CR=PIVS =9} 59,7002« 1CH =12 7
(2d=d) 600
.23 60,0002 x1& 10 600
(SAMHI) 13,608
1.J12gfs-d8S2s4
9,000 x6A 21 * 122 13,608
02 S3=4gl 46,011 39,791 6,220
(3323 % HAl 39,993
1.28= 8,273
Jh.t 4303 x2502 * 122 1,290
Lt SII 2,530 %2302 12 6,983
AN (24X 2,000,000& 123 24,000
doteRs 300,000 «6 1,800
4. B3N RG S (HETE)
60,0002 »1CH*23] 120
5. 83 xHArg
100,0003 *1JH A+ 18] 100
IS EE= 800,000 *1CH*12] 800
HY (I EES
1,000,000 *1CH*13] 1,000
8. Y XSS KA
30,0003 *1CH*13] 30
9. A XXXt KtS XHAl
130,000& *1CH*13] 130
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SA: LEEOS
M HAHPALH|(REHE0FS)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EEHErPE ]
70,0002 *2CH*13] 140
1.3 24 kel
300,000& * 128 3,600
(AIE&HIRXIH]) 6,018
AMNASRAEHI 800,000 800
2. HYYSIH| 50,000 *2CH 100
3.8 ==L
150,000 *1CH* 122 1,800
4 SEE=SAXE &IISHH|
50,000 *1CH* 122 600
5. Xt ==cldl
100, 000& »2CH*33] 600
e e N ] 50,0002 *3CH 150
7. Z2AERIAAEZ X 2 =H|
33,0003 *4JH 2-%42] 528
8. A2 QA AABS X 2=
30,0003 x40 =122 1,440
202 04t 46,200 46,200
01 =LHOHI 8,400 8,400
.=l 20,0003 102 7 * 123 +50% 8,400
02 A0 37,800 37,800 0
1.2 H0YI 225,000 x143 128 37,800
203 gF=4| 11,730 11,730
01 D22 HARFA| 7,110 7,110
1.0 22820 7,900,000 *90% 7,110
02 H3ItaHA 2F&| 840 840 0
[Sk=Prag=tar L] 40,0002 x21& 840
MU A2 LR FAI 3,780 3,780 0
1.2A2EY R8I
350,000 * 122 *90% 3,780
204 MNP AH| 1,800 1,800
01 MG HI=HAHH] 1,800 1,800
1LAMIHRFAY 1,800
s 150,000 x 12 * 122 1,800
405 KHoHF S| 2,300 4,285 1,985
01 ML ESFSHI 2,300 4,285 1,985
1SS 2,300,000 *1H 2,300
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Al A

Al 2 &
20255 & 200 LRSI JIEISEEIN DHS ~ 22S
N 228
HI: FOISH HOTD(AURE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2SS 1,896,622 1,665,090 231,532
FOHY HOZR(ARE) 414,634 332,480 82, 154
HY=XHE 2 414,634 332,480 82,154
S X 352,640 271,440 81,200
301 YEHEHI 352,640 271,440 81,200
07 S - 0% - SIEEESB A3 352,640 271,440 81,200
.83+ Y 25y 352,640
oholesg 400,000 58 * 122 278,400
L &403 400,000 *58% *23 46,400
Ch.2lo&o
20,0002 582 x25]* 128 27,840
FOURNXIME T20W 2 31,716 31,716
201 Yer2d| 31,716 31,716
01 AtR22lt| 31.716 31,716
(YerEHl) 2,916
LFUNXIME 2HH(2S)
150, 000! * 122 *90% 1,620
2. FRURRIME 2HH(BEE4A)
120,0002 * 122 *90% 1,29
(2g+%) 28,800
LFEUXRIME LAY 28,800
Jb.ot2LIt 25,0002 *8A| 2++ 122 2,400
Lt.olemal 25,0002 *8A| 2+ 122 2,400
Ch.2relthA 25,0002 +8AI 2122 2,400
et 2250 25,0002 +8AI 2122 2,400
OF. 2421 Jetl
25,0002 *8A| 2++ 122 2,400
Hi. 232ILt 25,0002 *8AI 2128 2,400
AL BHR20{ DA
25,0002 +8AI 2122 2,400
Of. SHiHA 25,0002 8| 2122 2,400
X A4 @0t 25,0002 *8A| 2++ 122 2,400
X AR A 25,0002 *8A| 2++ 122 2,400
IR A(SSA)
25,0002 8| 2122 2,400
Et.Jlemal(3S8)
25,0002 *8A| 2++ 122 2,400
HALR R 22 20,278 19,324 954
101 Q121] 7,406 7,282 124
M IRIM22XS2S 7.406 7,282 124
(SSELFA H4 012Y) 7,406
1.20
80,2402 /BAI2H* 1 #5541 24+ 12 6,620
2.MEER 6,620,0002 *1%+0.841% 5
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SN BRS
B ZOIME HOCD(BEE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
318282 6,620,002 %12 +1.75% 16
4R032EE
6,620,000& x1& 4. 5% 298
5. =20AHAEEE
6.620,0002%124x3.545% 23
6.-EI|QUTH2
235,000 x1EH*12.95% 31
7. AZH Y] 50,0003 x1H*13] 0
201 ger= 3| 12,042 12,042
01 AtR2te|H] 12,042 12,042
RGNS
180,000 x30H =% 123 6.480
2BABIIE U=
110,000 34 2+ 123 3,960
3.2824 SYIRNBANYS4E
121,000& * 122 1,452
4. 3SEA SZIIFHIIFB (YDA BH)
150,000 *1& 150
401 Al HIZL 201 830 830
01 Al&H| 830 830
122242 28NS +=HE £X
830,000& 14 830
FUHCU A SEHEAS 10,000 10,000 0
401 AlEHIZ 201 10,000 0 10,000
01 AlZH| 10,000 0 10,000
T.OHEAIE SLAHO0IEN HESXHEH EX
o AEX(S S0E AY)
10,000,000& * 14! 10,000
SADIBAIE FHI(228) 5,000 5,000 0
SADIBAIE EHI 5,000 5,000 0
A== ANE=S EHl 5,000 5,000 0
401 Al HIZ S 0HbI 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1.4825 Ald=E 7Al2c
5,000,000& 14 5,000
HY2HAH(Z=2S) 1,476,988 1,327,610 149,378
el 2| 1,314,6% 1,166,772 147,924
el 24| 1,314,6% 1,166,772 147,924
101 @124H| 1,314,6%6 1,166,772 147,924
01 2= 1,314,6% 1,166,772 147,924
(23) 875,807
1.4E8M018) 88,925
hsE 87,181,000& *1& 87,181
Lt XS IH & 87,181,000 *2% 1,744
2.5 5E(28Y) 786,882
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SN RS
M HY2IHH(AE2S)
chol: ol (19l @2
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
t.62(2652) 4,440,800 4« 12& 213,159
LE.72(1088) 2,939, 1002 x7H +12& 246,885
Ct.e2(728) 2,363,500 x6F 122 170,172
ct.o9=2(4s8) 1,961,600&x6Z 123 141,236
Of. M4 771,452,000 *2% 15,430
(A0E) A,606
1.URSFIAY 13,072
1.52U R (622653)
4,440,800& 4 1%+4H 128 8,740
2.6l (7=1288)
3,125,400& *4 1%+2H 12 3,076
3.72UR(8=2958)
2,551, 70024 1%+ 1+ 123 1,256
2.82=Y 786,882,000 «1/12& 65,574
3. 32EoRa 15,960
Jb.25E0] 4 130,000 2+ 12& 3,120
L2001 &H~254 0] B
110,000 x2H 122 2,640
Ct. 100l &k~15= 0] BF
60,0002 *424x 122 2,880
2}.5140] &~10:0/2
50,0002 =8 12& 4,800
Ot.5=0(2t 30,000 x7H*12& 2,520
OHHEEs) 27,720
1.0152Y 9,720
It Bt 40,0003 «6F 123 2,880
Lt AW AHA 30,0003 «2Y 123 720
Ct.EM XA 70,0003 =2« 12& 1,680
chAmMoIE Xt
110,000 1H + 122 1,320
Ot.J1Et Jt= 20,0003 138+ 12& 3,120
2. 2058+ 1,500,000& * 18123 18,000
(Ex222Y) 36,480
1.582H 36,480
ot s22=E 80,0003 +23H 123 22,080
Lt QIAHRE
50,0002 x6H * 12& 3,600
CH AR =X R+
70,0003 -9« 12& 7,560
ch AL SN 2ot
30,0002 x99 = 12& 3,240
(X224 5) 108,874
1.AIZ2t212245
11,6022 x34A| 2H+23H + 12& 108,874
(AHIBAS) 119,009
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SN BES
M HYRIZH(ZES)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1. 3As A 140,000 x24F « 122 40,320
2. BEFJHI 786,882,000&+1.2/12& 78,689
(B2 XH]) 52,200
1.58 250,000« 1H* 122 3,000
2.6 185,000 x4 * 122 8,880
3.72 180,000 x7&* 122 15,120
4.895 175,000« 12 =123 25,200
=238l 162,292 160,838 1,454
JI23Hl 162,292 160,838 1,454
201 et 3| 98,322 96,518 1,804
01 At22t2l] 40,536 38,952 1,584
(eet=24l) 21,483
1. 228+ 300,0003 x22H 80% 5,280
2.0HIZ2HRAIRES
100,000& * 104 A+ 128 1,200
3.Z2H Ed/ed™
182, 9202 »7 LH 62! 7,683
40150 2= 15,0002 3= 12& 540
LIEI] A8
120,000& *3I1+23] 720
6.FUSESE2EN
26,0003 202t A 520
7.025HEZEX
80,0003 158 A 1,200
8. SALEX 20,0003 902 A 1,800
9.2MEED| EYH 80,0002 *3CH*32] 720
10.5AD] &l 120,000 * 1CH*62] 720
N HESAUAAY S 21
75,0002 *43] 300
12.=80] EX 100,000 82 800
(dxt=) 4,197
1LE8=AY oS EH SISz
300,000 *22] 600
IS8 R= 30,000 x50 =122 1,800
3.3J18EJ Xt
30,0002 «3CH* 12 1,080
4.3JIMZ0| digs 59,7002 123 mnr
(2d=¢) 600
1L.e=x+d 60,0002 x 110 600
(24ll) 14,256
1128 fs8sS2 A
9,0003x64)x22& * 122 14,256
02 s3=gHl 57,786 57,566 220
(SSQ3%LAA) 48,684




SN BES
M HZRIZH(ZES)
s Jl=dhl EEREE
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1.2823 17,244
Jh.et 4303 +4002x 123 2,064
Lt. S 2,5303 %5002« 128 15,180
2.3 (2ARE
2,000,000& ~12& 24,000
3.Ao+ER3(24RE)
400,000 12& 4,800
4. e EEAR 80,0002 %12 80
5. s8I 1,940
HASAHEE=E
750,000& *12]*2CH 1,500
Lt 2B RS 65,0002 <22 130
Ch XS RHA 100,000 * 12| x2CH 200
ch.ZIIE M=
55,0002 *12]+2CH 110
6. X ZHESHH| 620,000& 12 620
(A=2Hl) 1,200
LAIRE(SR) 200,000 6 1,200
(AIE&HIRXIH]) 7,902
1L.EAMNH= 850,000& 850
2. LS 200,000 12 200
3. 2AHE ST 100,000 *3CH 300
4. 80| A= 30,0002 ~12& 360
5ERHIY 92t
200,000 = 1CH* 122 2,400
6. SIS HI|ISHY
60,0002 1CH =12 720
7. SHEXY il
100,000 »2CH*32] 600
L&==J| |X2eld 100,000 «6LH 600
EQIEOIAIAR FXIE4=H|
33,0003 *6LH*43] 792
10.XA2AMAAE S22
30,0008 *3CH* 12 1,080
202 04| 50,400 50,400
01 =LHOHI 7,200 7,200
1.=LH0dHI 20,0003 * 10«6 * 123 »50% 7,200
02 XA 43,200 43,200 0
124048l 225,0008 x16E~12& 43,200
203 gR=8| 1,770 1,770
01 D[22 HRFA| 7,110 7,110
10122824 7,900, 000& *90% 7,110
02 3t R F&| 880 880 0
1R RN 40,0003 x22H 880
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od
i’
oF
uJ

-

KIO

Hlw

MEE
Ofl &k2h

3,780

1,800
1,800

Ofl &F2H

3,780

3,780
1,800
1,800
1,800
1,800

- HyS

- SRA(E) - HIRAY

S - B
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ts2R=sE 70,0003 *17H 128 14,280
L QIR PR
50,0002 x4+ 123 2,400
Ch AR S X PR
70,0002 +7E« 123 5,880
ch AlREX RIS
30,0002 5«12 1,800
(Z222Y) 80,472
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SN PUS
M HZYRAZH(FLS
s lIEE2ghl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NECEET S,
11,6023 x34A1 2H+ 178 <123 80,472
(&HI2Y S) 84,483
1.3 HSAH 140,000 x 18+ 122 30,240
2. BEFJI 542,472,000 1.2/12 54,248
(H3E=HI) 39,420
1.55 250,0003x 1~ 122 3,000
2.68 185,000 x3&* 12 6,660
3.7= 180,000& 62 123 12,960
4898 175,000 x8& * 122 16,800
=3l 120,768 112,248 8,520
Jl=23H] 120,768 112,248 8,520
201 Ler=23 | 62,538 58,518 4,020
01 At2teltl 29,592 28,368 1,224
(er=2Hl) 13,995
1.2AN2E+SHI 300,000 *17H +80% 4,080
2.0HIZHR2AIRES
100,000& «12& 1,200
3. LelHEH 144, 1502 +5LH*4=] 2,883
4. 2ANESIIEH 135,000 *x2CH*4=] 1,080
5. ZelHs )| 300,000 *23] 600
CRUEPIE 20,000 =41 =122 960
7.21571¢3 25,0003 x2IH*42] 200
8.21&)|&te =&t 200,000 12 200
9.FRUSESE=2L3IEN
26,0003 202t A 520
0.2 2E5ZUIE+EN
80,0003 » 128 A 960
N.SEUALSIIEY
253,000 *43] 1,012
2. 422 UHHA 300,000& %12 300
(2d=¢) 600
1L.e=x+d 60,0002 x 110 600
(dxt=) 3,981
.80 EX& 30,0008 +3CH* 122 1,080
2.Zcitell gx=
182,000 1CH* 122 2,184
3.3 M=l itz
59,700 1L =122 7
(24ll) 11,016
1J2gfsgsS2sAt
9,000 x6A* 17 * 12 11,016
2 S22l 32,946 30,150 2,7%
(SS3%LAA) 27,798




SN PUS
A HZRAZH(FLS)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1.98= 9,592
Jh.et 430327021+ 123 1,34
Lt.SII 2,5303 %2704 128 8,198
2.8z 1,100,000& «12& 13,200
3.4.0l=kl=s 220,000 122 2,640
4 QHUAIER 28,0002 «1CH= 12 336
5. 8 AMERES(HE )
60,0002 *23] 120
AL EER 600,0002 %12 600
HE XSS XHA 40,0003 %12 40
HEXNSHI I Z A2
70,0002 %12 70
9. MIIMEER(XEEEN)
1,000,0002 %12 1,000
10. &I XEXFS RHA 130,000& %12 130
(A RS PAPN == A Sl 70,0002 %13 70
(A EZHISXIH]) 5,148
1LBAA= 1,000,000 1,000
2. LS 200,000 *1CH 200
3. 2AE ST 100,000 <2CH 200
4837 SR
100,000 *1CH* 12 1,200
5. 8J|Xt S&H 30,0008 *13|x 12 360
LI RXIE 4
130,000 * 10CH 1,300
7. 2QUEOIA A S22
33,0003 *4CH*43] 528
8. XA2QUAMAAE S
30,0003 x 122 360
202 04| 44,700 39,900 4,800
01 =LHOLI 9,600 4,800 4,800
1.=3LHOIbI 20,0003 102 x4H+12E 9,600
02 XN 35,100 36,100 0
124048l 225,000 x13F 122 35,100
203 HR=AH] 11,030 11,030
01 D[22 PR FA| 7,110 7,110
1012288254 7,900,000 *90% 7,110
02 32 JRHH 2= 680 680 0
1LEEIME R =A] 40,0002 %17 680
M FA2HLRFAI 3,240 3,240 0
1L.2MA28E R
300,000& x 122 «90% 3,240
204 APt AH| 1,800 1,800
01 MG AR+ Y] 1,800 1,800
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2A:
X XH -
o e

=aak

- SHRABA) - HRAY - BES

MEE
Ofl &k2h

150,000 x 12 * 122

1,800
1,800

700

1,000

A300

700,000 *1K

700
700

1,000

A300




Al & 0Ol & AFSE Z Ml A
0258 20lat LEBIH L JIBSERIH 1dS ~ =23
SN 2SS
M =0 MFY Ho E2(ASS)
Chol: MESTME 2 (Hol: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HES 1,251,830 1,130,152 121,678
=0 8N Ho S2(2ES) 222,406 184,082 38,324
YIS 29 222,406 184,082 38,324
sgE K& 176,320 135,720 40,600
301 EetE NS 176,320 135,720 40,600
o7 8% -0 - H¥Es243 176,320 135,720 40,600
.88+ ¥ 234l 176,320
rol=eE 400,000 x20E « 12 139,200
Lt.&f0iS 400, 0003 *29H <23 23,200
Ch.319 & a4
20,0002 x20EH*23|x 12 13,920
HIPAXME T2 )8 2 25,620 28,020 2,400
201 et 3| 25,620 28,020 2,400
01 At2t2l] 25,620 28,020 22,400
(EH2HHI) 1,620
1LFUNXIME 23]
150,000 * 122 x90% 1,620
(2e=¢) 24,000
1.=2AXME SAtE 24,000
b A0 LA 25,0002 x8Al 2t 12 2,400
L EetElA 25,0002 *8Al 2t 12 2,400
Ch.2otwa 25,0002 +8Al 2t 123 2,400
ch.St2LDtn A (=3)
25,0002 x8Al 2t 128 2,400
OrGI2LIDIRA(SE)
25,0002 =8Al 2t 12 2,400
H.OIRuA 25,0002 +8Al 2t 123 2,400
AN el je ES 25,0002 x8AI 2t 122 2,400
Ot. 24 0ILEN=S)
25,0002 x8Al 2t 12 2,400
At 2ZE0IHEHES)
25,0003 *8AI2H+ 123 2,400
Xb Al A 25,0002 *8A| 2H+ 122 2,400
A gX2el 10,466 10,342 124
101 212A4H| 7,406 7,282 124
04 JIZtN2Z2 XS+ 7,406 7,282 124
1.SEAEAUEY 7,406
HolEs
80,2402 /BAI 2+ 1H+E5A| 2+ 128 6.620
L. 828 6,620,0003 *1.75% 116
CH.AHES 6,620,0002%0.841% 56
ct.2eHA=EE 6,620,000 4. 5% 298
O =0IAZ2ES 6,620,000 *3.545% 235




A HES
B 0l HE HO CR(BSE)
el HESKEEH 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
B QI ZD | QAEH
235,000 *12.95% 31
A 22 Z &L 50,0003 x1E*13] 50
201 et 3| 3,060 3,060
01 At 22|l 3,060 3,060
(AR2EH) 3,060
.20 g2t ===
230,000 * 122 2,760
2EANBI I E U=
150,000& *1JH %22 300
FUHCUH A SEHEAS 10,000 10,000 0
201 et 3| 3,000 0 3,000
01 AtR2tc|Hl 3,000 0 3,000
1.2cl0ts €920 3,000,000& 3,000
401 Al HIZL 201 7,000 10,000 23,000
01 Al&H| 7,000 10,000 /3,000
1.0t24 & QIX&C0 X
7,000,000& 7,000
SADIEAIE HEI(28S) 5,000 5,000 0
SAIDIEHAIE EHI 5,000 5,000 0
2E2F AE= ZH| 5,000 5,000 0
401 AIEHIZ R 0HYI 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1.452= Al2E sA2e
5,000,000 * 14 5,000
HH2AZH(2SS) 1,024,424 941,070 83,3%4
el 2E| 924,667 844,318 80,349
el E2g| 924,667 844,318 80,349
101 e124d| 924,667 844,318 80,349
01 2= 924,667 844,318 80,349
(22) 626,529
1.e28H(19) 88,925
s 87,181,000& 1 87,181
L. X0 87,181,000 «2% 1,744
2. M2E(159) 537,604
ot62(2053) 4,560,700 «3E« 12 164,186
Lh72(928) 2,839,500& ~4H 123 136,296
Ct.8=(853) 2,459,9002 6~ 122 177,113
ct.9=(653) 2,061,100 «2F 128 49,467
OF. M IH & 527,062,000 *2% 10,542
(&o==¢) 63,752
LUSSRE=E 8,151

_‘IOO_




M 2SS
BH: HYPAAY|(BSS)
el i Eg| (St &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
Oh 52U (63205 2)
4,560, 70024, 19%+3H 122 6,732
L.720<*(831353)
2,884,000 4, 1%+1H + 122 1,419
A2 537,604,000&*1/12 44,801
s = P = 10,800
Jb. 2530 & 130,000& x2ZH » 12 3,120
Lt.20= 0] &~25= 0] et
110,000 x1H» 123 1,320
Ct.10= 0] &~15= 0] 2F
60,0003 x1H 123 720
ch.5E0l&~10= 018t
50,0002 +7E« 123 4,200
Ot.5& 018t 30,0002 +4H« 123 1,440
OHHEx =) 23,040
1.5 5,040
Jt. Uikt 40,0002 x4H* 123 1,920
Lt JIERDS 20,0002 5« 123 1,200
Ct XM AHA 30,0003+ 12& 1,080
ct. ST AHA 70,0003« 1« 128 840
2.20ts &Y 1,500,000& « 12« 128 18,000
(E+222Y) 24,600
1. €22 24,600
=28 80,000 =158+ 12& 14,400
Lt QIRHRE
50,0003 3« 128 1,800
Ch. A2 EXE R
70,0002 +7E~ 123 5,880
chABISEXNES+EHoHts
30,0003 x7H«12& 2,520
(ZU222) 71,005
1A 2R
11,6022 «34A| 2+ %15+ 122 71,005
(AHI24 S) 80,641
1. 2N ZAH| 140,0002 x16Z 123 26,880
2. BEFOHI 537,604,000&%1.2/12 53,761
(HZEZHI) 35,100
1.55 250,000& x1H 128 3,000
2.65 185,000& 3% » 123 6,660
3.72 180,000& x4 F 122 8,640
4.8=~9= 175,000 x8H 122 16,800
[2Zdl 99,757 96,752 3,005
JlE2&l 99,757 96,752 3,005
201 L2 | 49,437 46,432 3,005
01 AtR2telt] 25,649 23,244 2,405
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SN 2SS
A HZRAZH|(2SS)
o9l Jl= |
M- -E - B2A(E) - AIRAY - B of e A
(er=&Hl) 13,961
1. 2N 28+ 300,000 * 162 +80f% 3,840
2,002 ALBEY
100,000 «12& 1,200
J.eoIMERE EH/EY
200,000 *6LH*42] 4,800
4. ZAESI B
100, 000& »2CH*23] 400
5.1 EHNLTSLEN
80,0003 *102 A 800
6.xUS=Sx2LI RN
26,0003 202 A 520
7.SAEX 20,0003 508 A 1,000
8.2157| el= 20,0008 201 x 122 480
9.7ddYsrMZE 17,0003~ 104~ 123 204
10. 37120 elE= 59,7003 * 122 mnr
(d4xtz) 720
1.8=0] 30,0008 «2CH* 122 720
(2d=¢) 600
1.3 60,0003 18 x10! 600
(2481 10,368
SIETCPRTEE SN
9,000 x641 %16 * 123 10,368
02 S3=gHl 23,788 23,188
(S22 & HAl) 20,504
1.28= 7,104
bt 4302 «2002 122 1,032
Lt. S 2,5303x20024* 123 6,072
2.8J0|= 900,000& * 128 10,800
3.dotrem 50,000& * 122 600
4. 8N 282 700,000 *1CH 700
5. 20|% 282 1,000,000 *1CH 1,000
6. YIS NHSIHA
150,000 *2CH*12] 300
(AIE &= Xl 3,284
LEAMNAE FAE4H]
800,000 17K 2 800
2.2 ARSI RAl2ell
100,000 *2CH 200
3.&==J| |Xl2cldl 100,000 »1CH 100
4. ZRI=QIAIAE KX 2==H|
33,0003 »2LH*42] 264
5. XN2AMAAE S22
30,0002 *1CH* 12 360
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SN 2SS
Mz Y SAAH|(ASS)
Ct2l: J|124H| (Ete &
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
6. aExz Sl
80,000 1L~ 12& 960
7. HEXE £=2lH|
100, 000& *2CH*33 600
202 44| 38,700 38,700
01 2L Y| 3,600 3,600
1. 24| 20,0003 * 10 *3H x 128 x50% 3,600
02 MY 35,100 35,100 0
1.2 HNH| 225,0003x13H x 122 35,100
203 PR =&IH| 9,820 9,820
01 J|22HLRFEY| 5,940 5,940
1. 0|22 RFAY| 6,600, 000& *90% 5,940
02 HJAIRAZ=KRIH| 640 640 0
1. EJ I R=EH]| 40,0003 x16Y 640
M4 ENSILRF=EYI 3,240 3,240 0
1. 2SI LR
300, 0003 *12& x*90% 3,240
204 2R AY| 1,800 1,800
01 I L R+HEH| 1,800 1,800
1 ABSHRFEH| 1,800
ts%& 150,000& *1H x 128 1,800
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g 8 A A

0258 20lat LEBIH L JIBSERIH 1dS ~ =23
A SUS
Ha: 0l #E HO| CR(SYE)
e HE=SXNHEHES (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sus 1,376,368 1,270,660 105,708
ol #F Ho S2(SUS) 309,230 249,026 60,204
Y =AM 2E 309,230 249,026 60,204
SHEAZE 249,280 191,880 57,400
301 EetE NS 249,280 191,880 57,400
o7 8% -0 - H¥Es243 249,280 191,880 57,400
.88+ ¥ 234l 249,280
rol=eE 400,000 x41E 12 196,800
Lt.&f0iS 400, 0002 *41H 23] 32,800
Ct.3lol+=E 20,0002 *41»22|« 12 19,680
FOUNXMEHEZ)H=2S 20,820 20,820
201 fer= 3| 20,820 20,820
01 At 2t 20,820 20,820
(er=2Hl) 1,620
1LFLTIRIME 2]
150,000& x 122 «90% 1,620
(2d=d) 19,200
1.=2AXME At 19,200
W) LU mE= 25,0003 *BAl 2t 122 2,400
Lb.croltHA Al
25,0003 *8AI2H+ 123 2,400
Cholena 25,0002 x8AI 2t 122 2,400
ch.RItua 25,0003 *BAlI 2t 123 2,400
OLoIRuA 25,0003 *BAl 2t 122 2,400
bt. S una 25,0002 =8Al 2t 12 2,400
AL O FRIXRINH =203
25,0003 xBAI 220« 123 4,800
ARl 2tel 29,130 26,126 3,004
101 21A4H| 7,406 7,282 124
04 JIZtN2Z2 XS+ 7,406 7,282 124
(SEA 4 212 7,406
1.20f
80,2403 /BAI2H* 12 +55A1 2+ 123 6.620
24 EE = 6.,620,0002 *0.841% 56
3. 1EFE= 6,620,0002 *1.75% 116
4. =0HSEE= 6,620,000 4. 5% 298
5. 3L EEE 6,620,000 *3.545% 235
6.-FINRAEE=
235,000 *12.95% 31
7. 42BN 50,0003 x1E*13] 0
201 fer= 3| 21,724 16,844 4,880
01 At 2|l 16,964 16,844 120
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SN BUS
Hu: X0l ¥H MO T2(SUS)
el AE=SANEEHESE (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
1.RoZdl2Ae|tds=2
350,000& * 128 4,200
2. BN B4
280,000& * 128 3,360
JLEANSZIIRA 2 UE>Z
142,000& « 122 1,704
4 BASYIIHII A (SLINVT L)
130,000& %12 130
5. APANEHEFHUA++2 3,520
O A EOIE D)
190,000& « 102 1,900
L. Se3d8d & A3)I1s84
810,000 +22 1,620
= M AS 150,000 %52 750
S A )] FXE
250,000 122 3,000
8. AIZZEXt NEF2 300,000 300
2 222 4,760 0 4,760
1LEA U] AR
110,000 +29CH 3,190
2. A WL ADE D
1,570,000 *1CH 1,570
FEFMA STHHEAIS 10,000 10,200 A200
201 Zet2 & 9,000 0 9,000
01 AtR2telbl 9,000 0 9,000
TLHEZS - HAAX =HE <04
300,000 *307H 2 9,000
401 AlEHIZ S 0HbI 1,000 1,000
01 AlZH| 1,000 1,000
LADIEOSS dE A €X
1,000,000 170 A 1,000
SADIBAIE EHI(SUS) 5,000 5,000 0
SAIDIBEAIE FHI 5,000 5,000 0
222 AE= EH| 5,000 5,000 0
401 Al HIZ 2018 5,000 5,000 0
01 AlZH| 5,000 5,000 0
1425 AI2E |X2el
5,000,000 * 14! 5,000
AHHE2HAHI(SUHS) 1,062,138 1,016,634 45,504
ol 2 FH] 938,987 894,345 44,642
QAR A 938,987 894,345 44,642
101 e124d| 938,987 894,345 44,642
01 2= 938,987 894,345 44,642
(22) 623,920
1.A8H(1Y) 88,925
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24 sUlis
. HY2IHH(SUHS)
s lIEE2ghl EEREE
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
t.sE 87,181,000& 1Y 87,181
Lt M4 b| 87,181,000 2% 1,744
2. 838 (17Y) 534,995
ot.62(1883) 3,971, 7002 x3B + 128 142,982
LE.732(10588) 2,939, 100& x4B»12& 141,077
Ct.8= (55 E) 2,163,600 x4H  12& 103,853
ct.9=2(288) 1,897, 1003 «6Z =128 136,592
OF. X <4 d| 524,504,000 *2% 10,491
(A04) 60,075
1. RS 5,532
Jt5=2lR(6=218E53)
3,971,700& 4, 1% 12& 23X 3,909
Lt.62UR(72145S8)
3,296,800& *4 1%+ 128 x 1Y 1,623
2. 824 534,995,000 *1/12 44,583
3. 82EIoRE 9,960
JH. 20901 &~25E 0| Bt
110,000 x1F + 122 1,320
Lt. 1501 &~20E 0] CF
80,000& x2Z »12& 1,920
Ct.10=0l1&~15= 0] et
60,0003 «2H 123 1,440
ct .55 01 &4~10=0(8t
50,0003 x4 12 2,400
Ot.54012¢ 30,0002 x8F = 12& 2,880
OHHEE ) 23,520
1.0t85Y 5,520
Jb Ut 40,0003 *3Z*12& 1,440
Lt JIEDIS 20,0003 x7F 128 1,680
Ct. =M At 30,000& x2Z »12& 720
ct.EMAH 70,0003 =2« 12& 1,680
2. 2058+ 1,500,000& * 18123 18,000
(E2222Y) 27,960
1. 582 27,960
bt s22=E 80,0003 17+ 12& 16,320
Lt QIAHRE
50,0003 x4« 12& 2,400
CH AR SN2+
70,0003 «8F =123 6,720
et ALSIS XDt Z
30,0003 +7H* 123 2,520
(X224 80,472
1.AIZtRI2 245
11,6023 * 177 +34A| 2H+ 12F 80,472
(AUI24 S) 83,740
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SN BUS
M HYRIZHI(SUHS)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1. 3As A 140,000« 18« 122 30,240
2. 3Es0Hl 534,995 ,000& *1.2/12 53,500
(B2 XH]) 39,300
1.58 250,000« 1H* 122 3,000
2.6 185,000 x3& * 122 6,660
3.72 180,000 x4 * 12 8,640
4.895 175,000 «10E =122 21,000
=238l 123,151 122,289 862
JI23Hl 123,151 122,289 862
201 et 3| 72,831 71,619 1,212
01 At22t2l] 25,055 23,843 1,212
(Et==2HI) 11,090
1. 228+ 300,0002 x 16 «80% 3,840
2.0HIZ2HRAIRES
100,000& * 122 1,200
3.0INEREEH/EH
200,000 *5CH*23] 2,000
40150122 20,000~ 1CH=120HE 240
AR SIIEH 200,000 x2CH*23] 800
LIBSENLSESA
80,0003 *152f A 1,200
7.FUSESE==2LsEXN
26,0003 258} A 650
8. SALEX 20,0003 408} A 800
9. UEZSTUNHEE 2237 X =4H|
300,000 300
10.282E S=MUZ A0SV =4T)
2,500 <20~ 12 60
(2g9+9) 600
1Le=x+d 60,0002 x1& 10 600
(SAMl) 10,368
11282+ S254]
9,000& +62|x16E~12& 10,368
(dxt=z) 2,997
.80 X2 30,0002 #3CH* 12 1,080
2.3J188)| itz
50,000 =20 = 128 1,200
3.BIIHZ0 A=
59,7003 1L =122 mnr
2 352484l 47,776 47,776 0
(SS2SLAA) 42,020
.28z 12,020
Jh.get 4302 <2702 * 128 1,394
Lt.SII 2,5303 %3502+ 128 10,626
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2A:

sus
M HYRAZHI(SUHS)
el JI=2 3 (Cte: M
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2. :J|= 1,500,000& «12& 18,000
3.ZADAZE 500,000 * 12 6,000
4. 8ot g 350,000 «6 2,100
5. 33X AR 180,000& %12 180
CIPSECEAP= EAL ot =4 400,000& 22 800
7T M=ErE8PMEE
60,0002 +13] 60
gERHTALER
750,000 *x2CH*12] 1,500
0. SHHBEHAANSLR
60,0008 22 120
10.83NEFES(SBIX)
80,000 *23] 160
NSNS A
100,000 *2CH*13] 200
R.USKREFE=S 400,000 12 400
18.013E8 BRE HARS
20,0003 =20 =128 480
(NEZHIRXIHI) 3,156
LEMNA=SFAE 4] 1,000,000& 1,000
2. $HYSIHIRI
100,000 *14] 100
ZAES] 170,000 *2CH 340
4. 2|2 A28 70,0002 *2CH 140
EQEOIANAEMBI 24| (21A)
33,0003 *3CH*43] 3%
6. 2EH2 I ARSI X2 =H]
30,0002 +1CH+ 122 300
7AINNEHTIINELS
50,000 *1CH* 12 600
8.E & LHEH| ZIIEMN =58
220,0002 %12 220
(XreredEtt]) 2,600
1. g == 150,000 x1CH* 12 1,800
2. A& 8= X 200,000 x2CH =23 800
202 04| 38,700 38,700
01 =LHOHI 3,600 3,600
1.=LH0dHI 20,0003 » 10 x3H + 123 »50% 3,600
02 XN 35,100 36,100 0
124048l 225,0008x13F « 123 35,100
203 HR=AH] 9.820 9,820
01 V22 HRFa| 5,940 5,940
101228254 6,600,000 «00f% 5,940
02 3t R S| 640 640 0
LB G R =A] 40,0002 16 640
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od
i’
o
uJ

-

KIO

Hlw

MEE
Ofl &k2h

3,240

1,800
1,800

Ofl &F2H

3,240

3,240
1,800
1,800
1,800
1,800

- HyS

- SRA(E) - HIRAY

S - B

0K

300,000 * 122 «90%

R0
=
o

oF

KM

by

A
50

OF
ol
&
Kl

KJ
KF
ok
ol

=
Rr

150,000& x 12 =123

-

o
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Al A

| &€ 2 &
0258 20lat LEBIH L JIBSERIH 1dS ~ =23
AN SHS
B 0l HE HO CR(SHE)
&l HF=IHE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sHS 1,334,386 1,186,169 148,217
=0l A Ho| E2(sHS) 259,322 206,687 52,635
YIS 29 259,322 206,687 52,635
S.o0E 2s84ds 212,800 163,800 49,000
301 EetE NS 212,800 163,800 49,000
o7 8% -0 - H¥Es243 212,800 163,800 49,000
.88+ ¥ 234l 212,800
rol=eE 400,000 x35E « 12 168,000
Lt.&f0iS 400,000 *35E *23] 28,000
Chalo @A+
20,0002 x35EH*23| 12 16,800
FUAXMEEZ =S 13,296 13,296
201 et 3| 13,296 13,296
01 At2t2l] 13,296 13,296
(2er=2Hl) 1,296
1.2 AIME 28
120,000 * 122 +90% 1,29
(2e=¢) 12,000
1.2 XX A 2 Ab= 12,000
b 2IHA) 25,0002 x8Al 2t 12 2,400
Lt. 2I+(B) 25,0003 *8AI2H+ 123 2,400
CHCHOII EHA
25,0002 +8Al 2t 122 2,400
ct.=28013 25,0002 x8Al 2t 128 2,400
O 262102t
25,0002 =8Al 2t 12 2,400
ARl 2tel 23,226 19,591 3,635
101 @124H| 7,406 4,27 3,135
M IRINZZENSES 7,406 4,27 3,135
(SEA B 28y 7,406
.20
80,2403 /BAI2H+ 1 +55A1 2hx 12 6,620
2,182 6,620,000& *1.75% 116
3.4 HEE 6,620,000 *0.841% 56
4. =028 6,620,000& *4. 5% 298
5. 3ALEE 6,620,000 %3.545% 235
6. CoEIRLYEE 235,000 %12.95% 31
7. 42H 8] 50,0002 x 1 *13] 50
201 er23| 15,820 15,320 500
01 At2teltl 14,320 14,320 0
1.Re3dI24R 320,000 * 122 3,840
2. Dot H A 160,000& 122 1,920
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AN SHS
M =0 MY Ho ER(SHS)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
. ATAEHEEZ U
150,000& * 12 1,800
4. 40N HSI|IsES
700,000 *14] 700
5. 820137183 230,000 * 122 2,760
6.58S A A Rl
250,000 122 3,000
7TAE2CIN BEsE 300,000 300
02 S3=gHl 1,500 1,000 500
1. 2= 1,000,000 *14] 1,000
2.58)| 3483 500,000 500
U0 SO AL 10,000 10,000 0
401 AIZHIZL S HY 10,000 10,000
01 Al&H| 10,000 10,000
1.0t24 QX&) &4
10,000,000& * 14 10,000
SAPDIEAIE HEI(SES) 5,000 5,000 0
SAIDIBEAIE EH 5,000 5,000 0
AB= ANES EHl 5,000 5,000 0
401 Al HIZL 201 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1.A25 AIE2E |2l
5,000,000& *14] 5,000
HH2HZH(SEHS) 1,070,064 974,482 95,582
el 23 922,660 834,480 88,180
eIg =3 922,660 834,480 88,180
101 e124d| 922,660 834,480 88,180
01 &= 922,660 834,480 88,180
(=) 612,566
1.oA28H(1) 88,925
s 87,181,000& 1 87,181
B SSESY) Fals 87,181,000 «2% 1,744
2.M2E(1798) 523,641
ot.62(2028) 4,108,300 «2E « 12 98,600
Lh72(928) 2,839,500 x4H«12& 136,296
Ct.82(683) 2,263,400 6H 122 162,965
ct.9=0653) 1,925,200 x5+ 122 115,512
OF. M IH & 513,373,000 *2% 10,268
(&o+¢) 53,477
.82+ 523,641,0008*1/12 43,637
2. 32EoHts 9,840
J+.20= 01 &4~25 01 2
10,0003 x2&~ 123 2,640
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AN SHS
B HESAAY|(SHE)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Lt 100141~ 1510 2t
60,0002 x 1 * 12 720
Ct.5E01&~10 012t
50,0002 x6& 122 3,600
OF.5& 0OIgt 30,0008 * 122 2,880
OBIEd=g) 28,440
1.t5s¢ 10,440
B AL 40,0002 x8&* 122 3,840
L. JIERDHS 20,0002 x10E* 122 2,400
Ch XM AHA 30,0007 * 122 2,520
ct. = MAH 70,0002 x2& 123 1,680
2.20tsX+g 1,500,0002 x1&* 122 18,000
(S+22+9) 25,920
1.5=225E 25,920
. S2R+E 80,0002 x17H« 122 16,320
Lt 2IAZ2RsE
50,0002 x4« 122 2,400
CtALRISXIY R4
70,0002 6 122 5,040
ch AR SX RIS
30,0002 68 * 122 2,160
(=222 80,472
LAIRMRIZRSE
11,6023 x 172 =344 2+ 123 80,472
(24 8) 82,605
1. 3As4H 140,000 x18E < 12 30,240
2. BEFJtHI 523,641,0008+1.2/12 52,365
(B2 XHI) 39,180
1.58 250,000« 1H* 122 3,000
2.6 185,000& x2&~ 123 4,440
3.7= 180,000& ~4&x12& 8,640
4.895 175,000« 11E =123 23,100
=38l 147,404 140,002 7,402
JI=23Hl 147,404 140,002 7,402
201 fer= 3| 95,584 90,832 4,752
01 At 2|l 30,514 29,362 1,182
(Et==2Hl) 13,921
1. 2N 288 300,0003 x 16 «80% 3,840
2.0HIZ2HRAIRES
100,000& * 12 1,200
. EEEJIEH/EEY
214,500 x50H*43 4,290
401501212 15,7502 <20 = 12 378
ARSI IEH 150,000& » 1CH*22] 300
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2N sdS
BH: HYLSAAY|(SHE)
=l Jl=2g| (St &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
6.0 ZSHNMLSEX
87,000 x 158 A 1,305
7. XUSESE=LI RN
26,0003 x308F A 780
8.5 A MR
16,0002 *23| * 1404 &~ 448
9.BiSUDIE &32EX
100, 0002 1CH* 122 1,200
0.2 US4+
15,0003~ 1CHx 128 180
(2geg) 600
EEES 60,0002 %124+ 102 600
(Sabl) 10,368
1012 RLHS2ZAY|
9, 000364l x 16« 128 10,368
(xt2) 5,625
1. 80|28 X =2 30,0003 x1CHx 128 360
2. 810 xt= 25,0002 x40~ 122 1,200
3.3 I8&8I|1eXt=z
50,000 20l = 122 1,200
4.2ZHT2E) AR
179,000& *1CH* 128 2,148
5. 2JIMZINLX=
59,700 1L~ 122 717
02 S324H| 65,070 61,470 3,600
(2Z22=YHA) 59,782
1.2E= 8,622
Jp. Bt 430 *20024 x 12 1,032
L. S| 2,530 x25021x 12& 7,590
2. 80| 3,800,000& 122 45,600
3. 462 250,000 128 3,000
4. NERUREZ 400,000& 13 400
5.u[Y PHE 1,000,000 2CH 2,000
6. BRI KISIHAI(20H)
160,000 *13] 160
(A& ZHISXIHI) 5,288
1. ZAIA=S 2,000,000 2,000
2. ™ YIS EH| 100, 0003 = 1CH 100
3. 2AIESD| 200,000 = 1CH 200
4 201E0IA\|AHIS T E4=H|
33,000 *4[H*4=2 7| 528
5. XI20IAAAE S K| E4=H|
30,0002 x1CH* 128 360
HAEXIE A= 100,000 x12& 1,200
7. HEIE SRS
150, 000& *2CH*33 900
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SN SHS
ZH: HH2AAH|(SHS)
=l Jl=3H| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 37,200 37,200
01 2LHoIH 4,800 4,800
1.=U 08I 20,0002 * 102 x4 B 122 x50% 4,800
02 A0 32,400 32,400 0
1. 2NN 225,000« 12« 123 32,400
203 =4l 9,820 9,820
01 1228 R=a| 5,940 5,940
1|22 =8| 6,600,000 *90% 5,940
02 SRItAA =] 640 640 0
13N R A 40,0008 162 640
M FAZSLRFEI 3,240 3,240 0
1L.2A288 R4
300,000 * 122 *90f% 3,240
204 MR AH| 1,800 1,800
01 MM SR+ 1,800 1,800
[k == Eaataial 1,800
hsE 150,000& x 1= 123 1,800
405 AHaHE = 3,000 350 2,650
01 It =S F = 3,000 350 2,650
1.Se&Hl LAl 3,000,000& 3,000
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H & 0l & AHS B Ml A

SN 225
B 0l HE HO CR(ILE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
eSS 1,528,798 1,330,700 198,008
=0l A Ho| E2(=228) 326,976 258,376 68,600
YIS 29 326,976 258,376 68,600
.8y N3 297,920 229,320 68,600
301 EetE NS 297,920 229,320 68,600
o7 8% -0 - H¥Es243 297,920 229,320 68,600
.88+ ¥ 234l 297,920
rol=eE 400,000 x49E « 12 235,200
Lt &012 400,00021+49% %23 39,200
Ch.319 & a4
20,0002 *49E »23| « 12 23,520
FUAXMEEZ =S 15,696 15,696
201 et 3| 15,696 15,696
01 At2t2l] 15,696 15,696
(2er=2Hl) 1,296
1.2 AIME 28
120,000 * 122 +90% 1,29
(2e=¢) 14,400
1LFEXNX A ZA=E 14,400
L RIMWA(2H)
25,0002 =8Al 2t 12 2,400
L 20t0a (2%)
25,0002 +8Al 2t 122 2,400
Ct.=8013 25,0002 +8Al 2t 128 2,400
et HAATX(ES)
25,0002 x8Al 2t 12 2,400
O HAATIX(ZEZ)
25,0002 <8Al 2t 123 2,400
B Eetel A 25,0003 *BAlI 2t 123 2,400
A= X2t 3,360 3,360 0
201 fer=3| 3,360 3,360
01 AtR2t2|HI 3,360 3,360
1.2l r+2
180,000& «12& 2,160
2EABI IS U=
50,0003 * 10 A+ 128 600
.AaLANEEEUd =
50,0002 1 A+ 128 600
FUFAHU A SEOHEAS 10,000 10,000 0
401 AIEHIZ SR OHYI 10,000 0 10,000
01 Al&HI 10,000 0 10,000
1. Jt2% QIX&C] &X
10,000,000& * 14| 10,000
SAPDIEAIE HEI(ZRS) 5,000 5,000
SADIBHAIE EH] 5,000 5,000
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2N 2RS

I CADIBIAIE FHI(22S)

SRl TAIDIBHAIE JH| (CHol: &S1)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
A22= AM4E El 5,000 5,000

401 AIEHIZL 28I 5,000 5,000
01 Al&Hl 5,000 5,000
.25 ME2S |A2el
5,000,000 14 5,000
HY2IHH(2Z2S) 1,196,822 1,067,324 129,498
ol A 1,076,814 952,252 124,562
oI 2| 1,076,814 952,252 124,562
101 eI t| 1,076,814 952,252 124,562
01 2=+ 1,076,814 952,252 124,562
(82) 717,235
1L.ASH(1Y) 88,925
s 87,181,000& 1 87,181
BSSE] Falsl 87,181,000 2% 1,744
2. 838 (19Y) 628,310
h.62(2453) 4,341,700 x4H = 12& 208,402
Lt.7=(958) 2,839,500 x4 12& 136,2%
Ct.8=(52 =) 2,163,600 6« 12& 155,780
2t.92(B=3) 1,925,200&x5F 123 115,512
Ot X< IH4d bl 615,990,000 *2% 12,320
(Ao4) 67,429
1UTRRSY 1,989
O 52U (63 1952)
4,042, 1002 *4, 1%+ 122 1,989
A2 628,310,000&*1/12 52,360
3. 82=EoHE 13,080
Jh. 25101 & 130,000+ 12+ 122 1,560
Lt.20E101 4425610 8¢
110,000&x3H 122 3,960
Ch. 100141~ 1540 2t
60,0003 =2« 12& 1,440
2}.50/ &4~100] 8¢
50,0002 6+ 12& 3,600
Ot.5& 0|2t 30,0003 *7E 123 2,520
OB 31,080
1.5 13,080
IR BN 40,0002 11+ 123 5,280
Lt JIEDES 20,0003 x7H«12& 1,680
B DNIE] 30,0003 *7H* 123 2,520
ct. STHAHA 60,0002 5« 123 3,600
2.20t58 4 1,500,000& x 1+ 12& 18,000
(S=22=Y) 31,080
1.Ex32Y 31,080
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2N 225
MM HM2AAY|(2LE)
el QIEE2E ESR=ED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
hE2ssy 80,0002+ 192 122 18,240
Lo eag
50,0002 *42i* 122 2,400
ChAEIS X QR4
70,00024+924* 122 7,560
2k ASI S X QR LA
30,0002 +82i* 122 2,880
(2H2249) 89,939
AR
11,6022 +34A1 24+ 192 122 89,939
(Ah A ) 9,431
1 =oAL 140,000 202 * 122 33,600
2. HEFEIH| 608,310,00024%1.2/ 12 62,831
(AS2ZHI) 43,620
.52 250,00024% 12+ 122 3,000
2.62 185,00024*4% 122 8,830
3.72 180, 00024 #4% 122 8,640
4892 75,0008 1124%122 23,100
=2l 120,008 115,072 4,9%
PIEE 120,008 115,072 4,9%
201 Y2 oy| 64,538 57,982 6,55
01 AFR221H| 29,828 27,508 2,320
(er2H) 17,564
1 2N2YLgY 300, 0002 %1824 *80% 4,320
2. ORIEE 187, 00024 *4CH 43 2,99
3.DRIFCY 70,0002 *4CH 18] 680
IRIESIEE 30,0002 +20H* 122 720
5. 2AEEIIEY 180, 0002 *2CH+3] 1,080
6. QUBHNLZET
85,00021#152 A 1,275
7. F0SSSE2UIET
26,0002 %3024 A 780
8.2 AIEX 20,00021+70% A 1,400
9.0l ZARARES
100,000 %122 1,200
10. 015|122/ H| 200,00021%23] 400
N.ItERIXI (et ZRIED))
80,0002 ¥48 A 320
2. alAxE 30,0002 *3CH* 122 1,080
8. IPTVA41 2 25,0002+ 122 *2CH 600
14,2 MBIILTE 59, 70024 %122 717
(28+g) 600
RIEE RN 60,0002 %124%102 600
(2aH) 11,664
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SN 225
HH: YHSARY(22E)
&t JI=Z (CH9: &S1)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
BEEEES =T
9,000 x6Ax 18« 12& 11,664
02 3324l 34,710 30,474 4,236
(S32ILHA) 28,192
1.982 11,172
Jb. gt 430340024 128 2,064
Lt. 21 2,530 30024 12 9,108
2. 8012 950,000& * 123 11,400
3.4oleERa 200,000 +6& 1,200
4.0dl2s0 &= 150,000& * 12& 1,800
5.0l =23 &ot=EL3
50,0002 6 300
6.sHEXNSEEE 900, 000& *2CH 1,800
7. SHEXNHSENERE S
70,000 *23] 140
8.sHEXNHESEHATTZ
50,0002 *22] 100
9. sHEX XS XA 90,000 *2CH 180
10.s4E0IENSHEER
100,000& *13] 100
(ONE=ES{1E=IN]: 1)) 6,518
HARIER 24| 900,000& 900
2.2AHE S| 100,000 »2CH 200
SHEXNERFU
150,000& *1CH* 123 1,800
4 SEH X2/
150, 0003 *2CH*33] 900
L2==J|= Xl 50,000 *3CH 150
A SEHIR A
100, 0002 *1CH 100
7. SHEOIENSIHRFH
15,0002 x1CH+ 123 180
8.2 IS OIA|A BRI R X 24|
33,0003 x4 CH*43] 528
9. X2 A A AR X 24|
30,0002 = 1CH*12& 360
10.010121 & & ==clbl 100,000 »8CH 800
N &INSIHHEIANERS
50,0002 = 1CH*12& 600
202 o4t 42,600 42,600
01 =34 4,800 4,800
1.3 20,0002« 10«4 12 +50% 4,800
02 NI 37,800 37,800 0
1. 2HN| 225,000 x14Z =123 37,800
203 LR =&H| 11,070 11,070 0
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